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Hacrosime  MeTomguueckue peKOMEHJAIMM  COCTaBJIEHBI B COOTBETCTBUH ¢ DeaepalibHbIM
roCyJapcTBEHHBIM 00pa30BaTe/ibHbIM CTAHIAPTOM CpEIHEro Mpo(ecCHOHATBHOr0 00pa3oBaHUs 110
cnenuansHocTd 09.02.07 MndopmaiinoHubie CUCTEMBI U IIPOrPAMMHPOBAHKE, YTBEPIKICHHBIE TIPUKA30M
MmunucrepcrBa obpazoBarus U Hayku P® ot 09.12.2016 r. No 1547 u npumepHoit o6pa3oBaTenbHOM
[IPOrPaMMOM, 3aperuCTPUPOBaHHOMN B rocyaapcTseHHoM peectpe ot 11.05.2017 r. Ne 09.02.07-170511.

Meronudeckne peKOMEHIAIMK IPeIHA3HAYEHBI U OOYYarOIIUXCS 110 BBIIOJHEHHIO MPAKTHYECKHX
3aHATHH M caMocToATeNbHOH paboThl no yuebHoit mucuumamae OI'CD.04 MHocTpaHHBIH S3BIK 110
cenuaibHocTH 09.02.07 MHbOpMaIMOHHbBIE CHCTEMBI H TPOTPAMMHPOBAHHIE.

Opranmzanus — pa3paboTumk: ABTOHOMHAs HEKOMMEpUYEcKass opraHuszaius MnpodecCHOHATBHOTO
obpazoBanus «CeBepo-Kaskasckuii akanemudeckuit MHoronpoduibnbii Komiemky, ropo CTaBporiolis.



IHHOACHUTEJBbHAA 3AIINCKA

MeTtoauueckie pEKOMEHJAIMU 110 BBIMOJIHEHUIO MPAKTHUYECKUX paboOT CTYAEHTOB MpuU
n3ydeHun yueoHou aucruminael OI'CD.04 MHOCTpaHHBIN A3BIK B TPOPECCHOHAIBHON IESITEIIBHOCTH
npeaHa3HaueHbl s cryaeHToB crnenuanbHocTH  09.02.07  «MHpOpMaIIMOHHBIE CHCTEMBI U
MPOTrpaMMUPOBAHUEY.

enp MeTOoaMYECKUX YKa3aHUW: OKa3aHHE MOMOIIU CTYACHTaM B BBIIOJHEHUH MPaKTUYECKOU
pabotsl o OI'C3.04 «HOCTpaHHBIH SA3BIK B TPOGECCUOHATLHON AEATEIIEHOCTH .

Hacrositiue Meroamveckue yKazaHUs COAEpKAT paboOThl, KOTOPHIE IIO3BOJIAT CTYAEHTaM
NPUMEHUTh Ha TMPAKTHUKE CBOM 3HAHHUSAMH, MPOPECCHOHAIBHBIMU YMEHUSMH U  HaBBIKAMH
JEeSITeIbHOCTH 10 PO(MUII0 MOATOTOBKHU, OIBITOM TBOPUECKOH U UCCIIE0BATEIbCKOM AEITEIbHOCTH, U
HampaJieHbl Ha (POPMUPOBAHKE CIIETYIOIIMX KOMIIETCHIIHIA:

OK 1. Beibupatp crioco0sl pemeHus 3a1a4 npopecCuoOHaIbHON eI TeNbHOCTH, TPUMEHUTEIBHO
K Pa3IMYHBIM KOHTEKCTaM

OK 4. PaboraTh B KOJJICKTHBE W KOMaHZE, 3(PPEKTHBHO B3aMMOACHWCTBOBATH C KOJUIETAMH,
PYKOBOJICTBOM, KJIIMEHTaMHU

OK 6. IlposBiasaTh TIpa’kJaHCKO-NATPUOTUYECKYIO MO3MIMIO, JAEMOHCTPUPOBATH OCO3HAHHOE
[IOBEJICHUE Ha OCHOBE TPAJUIMOHHBIX OOIIEYETOBEYECKUX LIEHHOCTEH, NPUMEHATh CTaHAApThI
AHTUKOPPYNLHUOHHOIO IIOBEJICHUS

OK 10. TIlomb3oBatbcst TmpodeccHOHANbHON JOKyMEHTalMell Ha TOCYJapCTBEHHOM H
WHOCTPAHHOM SI3bIKE

B pesynprare BeimomHeHus npaktudeckux pabor OI'CD.04 «MHOCTpaHHBIH S3BIK B
poeCCHOHATTBHON JIEATEIBHOCTU» CTYASHTHI JOJDKHBI PACIIMPUTHh CBOM 3HAHUS 110 OCHOBHBIM
pa3zenaM JUCHMIUIMHBI IIyTeM IIOMCKa, OBJIQZIeTh HaBbIKaMHU cOopa, oOpaboTKM, aHauu3a WU
cUCTeMaTHU3allud >KOHOMHUYECKOM HMH(OpPMaLUU, a TaKKe OIpeleNiaTh COCTaB MaTepHUajbHbIX,
TPYAOBBIX U (PUHAHCOBBIX PECYPCOB OpraHU3aIHH.

[lo yuebHOMY IUIaHYy Ha HpPAaKTUYECKHE 3aHATUS MPEAyCMOTpeHO 166 ayAuTOpPHBIX YacoB,
00ydJaroImuecs JOJHKHBI BBITOIHUATE 18 paboThl.



1. IEPEYEHb TIPAKTUYECKHUX 3AHATHHA IO JUCIATLINHE
OI'C3.04 THOCTPAHHBIN A3BIK B IPO®ECCUOHAJILHOM JEATEJIBHOCTH

HanmeHnoBaHMe TeMbI

IIpakTHyeckas padora

HanmenoBanme Kos-Bo yacos
MexnyHapogHoe obmenue. | YCTHBINA BBIOOPOYHBIN OMPOC IO TEME.
[IpencraBnenue u 3HaKOMCTBO Pemenue TecToBBIX 3a0aHUM. 8
3amura pedeparos.
HedopmanbHbiii pa3roBop Ha M3BECTHBIE | Y CTHBIN BEIOOPOUYHBII OMPOC MO TEME.
OBITOBBIC TEMBI Petrenue TecToBbIX 3aaHUI. 8
3amura pedeparos.
OcHOBHbIE BU/IbI MEepCOHANIbHBIX | PellieHne TecTOBbIX 3aAaHU. 8
KOMIIBIOTEPOB YcTHBIN BEIOOPOYHBIH OMPOC 1O TEME.
AmnmnapatHoe obecrieueHue Pemenue TecTOBBIX 3aaHUM. 8
3amura pedeparos.
ITporpammuoe obecrnieueHne. Busibl | VeTHBINM BHIOOPOUYHBIN OMPOC 110 TEME. 8
Iporpamm, UX pacrpeaeiieHue Pemenne TecToBBIX 3a1aHUM.
3amuTta pedeparos.
OrnepamOHHBIE CUCTEMBI YcTHBIN BEIOOPOYHBIH OMPOC MO TEME. 8
Pemenue TecToBBIX 3a4aHUN.
3amura pedeparos.
[IporpammupoBanue Pemrenne TecTOBBIX 3a4aHUM. 10
YcTHBIN BEIOOPOYHBIH OMPOC MO TEME.
SA3biku Pemrenue TecToBBIX 3aMaHUIA. 10
[IPOrpaMMHUpPOBaHUSA 3amura pedeparos.
[IpoexTrpoBaHUETPOTPAMMHOTO Y cTHBIN BEIOOPOYHBIH OMPOC MO TEME. 10
MPOJTYKTA Pemenue TecToBBIX 3a4aHUN.
3amuTa pedeparos.
Mup cereBoil uHpopmanuu YcTHBIN BEIOOPOYHBIH OMPOC MO TEME. 12
Pemenue TecToBbIX 3a0aHUN.
3amuta pedeparos.
A3bIk Pemrenue TecToBBIX 3aaHUI. 12
nporpammupoBanus Pascal YcTHBIN BEIOOPOYHBIH OMPOC MO TEME.
S3pix nporpammupoBanus Delphi VY cTHBIN BEIOOPOYHBIH OIPOC IO TEME. 8
Pemienue tecToBbIX 3a1aHUN.
3amura pedeparos.
SA3bIK Y cTHBIN BEIOOPOYHBIH OMPOC 1O TEME. 8
nporpammupoBanust C+ Pemrenue tecToBbIX 3aAaHUI.
3amura pedeparos.
ba3sl jaHHBIX Perrenue TecTOBBIX 3aJaHUH. 10
Y CTHBIHM BEIOOPOUHBIN OITPOC 1O TEME.
Hcnonb3zoBaHuepecypcoB MHTEPHETA Pemenue TecToBBIX 3a4aHUMN. 10
3ammra pedepaTos.
AHamu3ausaiiHa caita YcTHBIN BEIOOPOYHBIH OMPOC IO TEME. 8

Pemenue TecTOBBIX 3aJaHUH.
3ammra pedepaTos.




TectupoBannelIOn  MHPOPMATMOHHBIX | Y CTHBIA BEIOOPOYHBIH OMPOC MO TEME. 8
CUCTEM Pemrenue TecTOBBIX 3aJaHUH.
3amura pedepaTosB.
VYpaBiieHHEKayecTBOM —MporpaMMHoro | PemeHue TecToBBIX 3aaHUIA. 14
obecrnieueHus VY cTHBIN BEIOOPOYHBIH OIIPOC IO TEME.
Bcero 168




2. NIPAKTHYECKOE 3AHATHE

UNIT 1
I. Look up in the dictionary how to pronounce the following words. Write them down in the dictionary.
to calculate ten-toothed gear wheels a chip
an abacus to aim guns rectangular
a bead frame responsible a layer
to devise to figure out attached
a slide rule a generation to encapsulate
to reduce a predecessor dependable

I1. Read the text and do the exercises that follow it.
History of Computers

Let us take a look at the history of the computers that we know today. The very first calculating
device used was the ten fingers of a man’s hands. This, in fact, is why today we count in tens and
multiply of tens. Then the abacus was invented, a bead frame in which the beads are moved from left to
right. People went on using some form of abacus well into the 16™ century; it is being used in some
parts of the world because it can be understood without knowing how to read.

During the 17th and 18th centuries many people tried to find easy ways of calculating. J. Napier,
a Scotsman, devised a mechanical way of multiplying and dividing, which is how the modern slide rule
works. Henry Briggs used Napier’s ideas to produce logarithm which all mathematicians used today.

Both Sir Isaac Newton, an Englishman, and Leibnitz, a German mathematician, independently
invented calculus, another branch of mathematics. The first real calculating machine appeared in 1820
as the result of several people’s experiments. This type of machine, which saves a great deal of time
and reduces the possibility of making mistakes, depends on a ten-toothed gear wheels.

In 1830 Charles Babbage, an Englishman, designed a machine that was called ‘The Analytical
Engine’. This machine, which Babbage showed at the Paris Exhibition in 1855, was an attempt to cut
out the human being altogether, expert for providing the machine with the necessary facts the problem
to be sowed. He never finished this work, but many of his ideas were the basis for building today’s
computers.

In 1930, the first analog computer was built by American named Vannevar Bush. The device was
used in World War 1l to help aim guns. Mark |, the name given to the first digital computer, was
completed in 1944. The men responsible for this invention were Professor Howard Aiken and some
people from IBM. This was the first machine that could figure out long of mathematical problems all at
a very fast speed.

In 1946 two engineers at the University of Pennsylvania, J. Eckert and J. Mayshly, built the first
digital computer using parts called vacuum tubes. They named their new invention UNIAC. The first
generation of computers, which used vacuum tubes, came out in 1950. UNIAC | was an example of
these computers which could perform thousand of calculations per second.

In 1960, the second generation of computers was developed and could perform work ten times
faster than their predecessors. The reason for this extra speed was the use of transistors instead of
vacuum tubes. Second generation computers were smaller, faster and more dependable than first
generation computers.

The third-generation computers appeared on the market in 1965. These computers could do a
million calculations a second, which is 1000 times faster than the first generation computers. Unlike
second-generation computers, these are controlled by tiny integrated circuits and are consequently
smaller and more dependable.

Fourth-generation computers have now arrived, and the integrated circuits that are being
developed have been greatly reduced in size. This is due to microminiturization, which means that the
circuits are much smaller than before; as many as 1000 tiny circuits now fit onto a single chip. A chip
IS a square or rectangular piece of silicon, usually from 1/10 to % inch, upon which several layers of an
integrated circuit are attached or imprinted, after which the circuit is encapsulated in plastic metal.
Fourth generation computers are 50 times faster than third-generation computers and can complete
approximately 1.000.000 instructions per second.

I11. Translate from English into Russian:
1. the very first calculating device 7. first digital computer



2. to count in tens 8. to figure out

3. to multiply of tens 9. ten times faster

4. without knowing 10. extra speed

5. to be independently invented 11. tiny integrated circuits
6. to save a great deal of time 12. keeping instruction

IV. Translate from Russian into English:

1. 3HaTh cerosiHs 7. MOMbITKA

2. 10 nanp1ieB pyku yenoBeKa 8. aHAJIOTOBBIN KOMIIBIOTEP
3. KOCTH Ha cUeTax JABUTAIOT CJICBA HA IIPpaBO 9. CKOpPOCTb

4. mpoJoyKaTh UCII0JIb30BATh 10. BakyyMHBI€ JTaMITBI (TPyOKH)
5. cueTrsl 11. Tpan3ucrop

6. HacTOAIAs! CUETHO- 12. yaTErpUpOBaHHBIE CXEMBI

BbIYUCIIMTCJIbHAsAMAIIINHA

V. Fill in each blank with a word chosen from the list below to complete the meaning of the sentence:
chip, speed, figure out, calculating, reduces, microminiturization,

analog, logarithm, abacus, machine, vacuum tubes,

tiny, dependable, devised

1. The very first .....device used was 10 fingers of a man’s hand.

. Then, the .....was invented.

. J. Napier .....a mechanical way of multiplying and dividing.

. Henry Briggs used J.Napier’s ideas to produce ..... .

. The first real calculating .....appeared in 1820.

. This type of machine .....the possibility of making mistakes.

. In 1930 the first .....computer was built.

. This was the first machine that could ..... ..... mathematical problems at a very fast speed.
. In 1946 was built the first digital computer using parts called .... .

10. The reason for this extra .....was the use of transistors instead of vacuum tubes.

11. The second generation computers were smaller, faster and more .....than first-generation computers.
12. The third-generation computers are controlled by .....integrated circuits.

13. This is due to ....., which means that the circuits are much smaller than before.

14. A .....is a square or rectangular piece of silicon, usually from 1/10 to 1/4 inch.

VI. Fill in the preposition:

. Let us take a look .....the history of computers.

. That is why we count .....tens and multiply ..... tens.

. The beads are moved .....left .....right.

. Abacus is still being used .....some parts ..... the world.

. Calculus was independently invented .....both Sir Isaac Newton and Leibnitz.

. This type of machine depends .....a ten-toothed gear wheels.

. «The Analytical Engine» was shown .....the Paris Exhibition ..... 1855.

. The men responsible .....this invention were Professor Howard Aiken and some people ..... IBM.
. The first generation of computers came .....in 1950.

10. Due to microminiturization 1000 tiny circuits fit .....a single chip.

VII. Finish the following sentences:

1. The first generation of computers came out in ..... .

2. The second generation of computers could perform work ten times faster than their .... .
3. The third-generation computers appeared on the market in ..... :

4. The fourth-generation computers have been greatly ..... .

5. The fourth-generation computers are 50 times faster and can ..... :

VIII. Find the synonyms to the following words in the text:

simple, to carry out, up to date, quick, to try, small

IX. Find the antonyms to the following words in the text:

Like, short, to increase, sole, dependently

X. Arrange the items of the plan in a logical order according to the text:

1. J. Napier devised a mechanical way of multiplying and dividing.

O©CoOoO~NO O WN

OO0 0T WN P



2. The very first calculating device was the ten fingers of a man’s hands.
3. Babbage showed his analytical engine at Paris Exhibition.

4. The first real calculating machine appeared in 1820.

5. The first analog computer was used in World War 11.

XI. Answer the questions on the text:

. What was the very first calculating device?

. What is abacus? When did people begin to use them?

. When did a lot of people try to find easy ways of calculating?

. Who used Napier’s ideas to produce logarithm?

. What was invented by Sir Isaac Newton and Leibnitz?

. What did Charles Babbage design?

. When was the first analog computer built? How did people use it?

. Who built the first digital computer?

. How did the first generation of computers work?

10. What are the differences between the first and the second computer generations?
11. When did the third-generation computers appear?

OCoO~NO O WDN -

UNIT 2
I. Look up in the dictionary how to pronounce the following words. Write them down in the dictionary.
to intricate capabilities a microcomputer
tiny addition a circuit
a core subtraction unfortunately
to manipulate division dull
to magnetize multiplication a routine
to perform exponentiation a judgement
to supply to feed instantaneously

Il. Read the text and translate it without the help of the dictionary.
What is a Computer?

A computer is a machine with an intricate network of electronic circuits that operate switches or
magnetize tiny metal cores. The switches, like the cores, are capable of being in one of two possible
states, that is, on or off; magnetized.

The machine is capable of storing and manipulating numbers, letters and characters.

The basic idea of a computer is that we can make the machine do what we want by inputting
signals that turn certain switches on and turn others off, or that magnetize or do not magnetize the
cores.

The basic job of computers is the processing of information. For this reason, computers can be
defined as devices which accept information in the from of instructions called a program and characters
called data performing mathematical and logical operations on the information, and then supply results
of these operations.

The program or a part of it, which tells the computers what to do and the data, which provide the
information needed to solve the problem, are kept inside the computer in a place called memory.

Computers are thought to have many remarkable powers. Most computers, whether large or
small have three basic capabilities.

First, computers have circuits for performing arithmetical operations, such as: addition,
subtraction, division, multiplication and exponentiation. Second, computers have means of
communicating with the user. If we couldn’t feed information in and get results back these machine
wouldn’t be of much use.

However, certain computers (commonly minicomputers and microcomputers) are used to control
directly things such as robots, aircraft navigation systems, medical instruments, etc. Some of the most
common methods of inputting information are to use terminals, diskettes, disks and magnetic tapes.

The computer’s input device (which might be a disk drive depending on the medium used in
inputting information) reads the information into the computer. For outputting information, two
common devices are used a printer which prints the new information on paper, or a cathode-raytube
(CRT) display screen which shows the results on a TV-like a screen. Third, computers have circuits



which can make decisions. The kinds of decisions which computer circuits can make are not of the
type: “Who would win a war between two countries?’ or ‘Who is the richest person in the world?’
Unfortunately, the computer can only decide three things, namely:” Is one number use more often than
another? ‘Are two numbers equal?’ and, ‘Is one number greater than another?’

A computer can solve a series of problems and make hundreds even thousands of logical
operations without becoming tired or bored. It can find the solution to a problem in a fraction that it
takes a human being to do the job. A computer can replace people in dull routine, but it has no
originality, it works according to the instructions given to it and cannot exercise value judgements.

There are times when a computer seems to operate like a mechanical «brainy, but its achievement
are limited by the minds of human beings. A computer cannot do anything unless a person tells it what
to do and gives the appropriate information, but because of electric pulses can move at the speed of
light, a computer can carry out vast numbers of arithmetical-logical operations almost instantaneously.

A person can do the same, but in many cases that person would be deal long before the job was
finished.

I11. Translate these into your own language:

1. an intricate network 9. an input device

2. tiny metal cores 10. for outputting information
3. by inputting signals 11. a decision

4. the processing of information 12. to replace

5. to define 13. appropriate

6. to provide 14. to carry out

7.to solve 15. vast

8. memory

IV. Translate these into English:

1. ICPCKIOYaTeClib, HOI[O6HLII>1 9. HCIIOCPCACTBCHHO YIIPABJIATH
METAJINYECKOMY CEPACYHUKY

2. OyKBBI U 3HAKH (CUMBOJIBI) 10. cxema

3. HaMarHM4YMBaTh METAJTHYECKUI 11. MexaHUYECKUH MO3T
CCPACUYHHUK

4. obpaboTka nH(pOpMAIUN 12. orpaHUYCHHBIN

5. BBIIIOJIHATH METAJUINUYECKUE 13. J10 TCX II0p IIOKa

" JIOTUYCCKHUE OIICpauu

6. maHHbIE 14. noaxomsiuin

7. 3ame4aTeNbHbIN 15. ckopocTs cBeTa

8. CpCACTBACBA3ZUCIIONB30BATCIIEM

V. Fill in the necessary words:

1. A computer is a .....with an intricate network of electronic circuits.

2. The machine is .....of storing and manipulating numbers, letters and characters.

3. The basic job of a computer is the .....of information.

4. Most computers have three basic ..... .

5. Computers have .....for performing arithmetical operations.

6. Certain computers are used .....directly things such as robots, medical instruments, etc.
7. For outputting information two common .....are used.

8. A computer can .....people in dull routine.

V1. Fill in the gaps the prepositions:

1. A computer is a device .....an intricate network.

2. The switches are capable of being .....one or two states.

3. We can make the machine do what we want .....inputting signals.

4. Computers accept information .....the form of instructions called a program.

5. Computers have circuits .....performing operations.

6. Computers have means of communicating .....the user.

7. Input device may be a disk drive depending .....the medium used ..... inputting information.
8. Computers can solve a series of problems .....becoming tired or bored.

VII. Match the names on the left with the definitions on the right:



1. video recorder a) a kind of sophisticated typewriter using a computer
2. photocopier b) a machine which records and plays back sound
3. fax machine ¢) a machine which records and plays back pictures
4. tape recorder d) a camera which records moving pictures and sound
5. modem e) a machine for chopping up, slicing, mashing, etc.
6. camcorder f) a machine which makes copies of documents
7. robot g) a machine which makes copies of documents and
sends them down telephone lines to another place
8. word-processor h) a machine which acts like a person
9. food-processor 1) a piece of equipment allowing you to send information from one computer

down telephone lines to another computer
VI11. Write descriptions like those in exercise VI, for the following objects:

TV set sewing-machine microwave disks
iron telephone printer mouse
alarm-clock ventilator keyboard CD-players

IX. Give the appropriate definitions of the following terms:

computer, data, memory, input, device, output

X. Find the synonyms to the following words in the text:

Work, difficult, to fulfill, fundamental, to end, equipment

complex, way, uninterested, an accomplishment

XI. Find the antonyms to the following words in the text:

output, smaller, interesting, poor, dark, alive, large, receiving, reject, unusual

XI1. Arrange the items of the plan in a logical order according to the text:

1. A computer can solve a series of problems and make hundreds even thousands of logical operations.
2. The basic job of computers is the processing of information.

3. A computer is a machine with an intricate network of electronic circuits.

4. Computers have circuits for performing arithmetic operations.

5. The machine is capable of storing and manipulating numbers, letters and characters.
6. Some of the most common methods of inputting information are to use terminals.
7. For outputting information only two common devices are used.

XI11. Answer the following questions:

1. What is a computer?

2. What is it capable to do?

3. The basic job of a computer is the processing of information, isn’t it?

4. How do we call a program, which tells the computer what to do?

5. Computers have many remarkable powers, don’t they?

6. What can computer solve?

7. Can computers do anything without a person?

XIV. Give a short summary of the text.

UNIT 3
I. Look up in the dictionary how to pronounce the following words. Write them down in the dictionary.
to adjust to check in to maintain
advanced to enable a marvel
to amend to execute random
to assist to guide to rely on
to conjure an image a relative ease
to contribute huge to resemble
conversing launching a terminal

I1. Read the text and do the exercises that follow it.
Computer Applications

Many people have or will have had some experience of ‘conversing’ with computers. They may
have their own micro-computer, they may use a terminal from the main company at work or they may
have a television set with a view data facility. Those who do not have this experience may observe the



staff at, for example, an airline check-in or a local bank branch office sitting at their desks, pressing
keys on a typewriter like a keyboard and reading information presented on a television type screen. In
such a situation the check-in clerk or the branch cashier is using the computer to obtain information
(e.g. to find out if a seat is booked) or to amend information (e.g. to change a customer’s name and
address).

The word computer conjures up different images and thoughts in people’s mind depending upon
their experiences. Some view computers as powerful, intelligent machines that can maintain a ‘big
brother’ watch over everyone. Others are staggered and fascinated by the marvels achieved by the
space programs of the superpowers, where computers play an important part.

Numerous factories use computers to control machines that make products. A computer turns the
machines on and off and adjusts their operations when necessary. Without computers, it would be
impossible for engineers to perform the enormous number of calculations needed to solve many
advanced technological problems. Computers help in the building of spacecraft, and they assist flight
engineers in launching, controlling and tracking the vehicles. Computers also are used to develop
equipment for exploring the moon and planets. They enable architectural and civil engineers to design
complicated bridges and other structures with relative ease.

Computers have been of tremendous help to researchers in the biological, physical and social
sciences. Chemists and physicists rely on computers to control and check sensitive laboratory
instruments and to analyze experimental data. Astronomers use computers to guide telescopes and to
process photographic images of planets and other objects in space.

Computers can be used to compose music, write poems and produce drawings and paintings. A
work generated by a computer may resemble that a certain artist in birth style and form, or it may
appear abstract or random. Computers are also used in the study of the fine arts, particularly, literature.
They have also been programmed to help scholars identify paintings and sculptures from ancient
civilizations.

But computers do not have intelligence in the way humans do. They cannot think for themselves.
What they are good at is carrying out arithmetical operations and making logical decisions at
phenomenally fast speed. But they only do what humans program gives them to do.

Apart from the speed at which computers execute instruction, two developments in particular
have contributed to the growth in the use of computers — efficient storage of large amounts of data and
diminishing cost. Today, computers can store huge amount of information on magnetic media and any
item of this information can be obtained in a few milliseconds and displayed or printed for the user.

I1l. Translate these into your own language:

1. some experience of conversing 8. advanced technological problem
2. view data facility 9. to guide telescopes

3. to obtain information 10. ancient civilization

4. powerful, intelligent machine 11. arithmetical operations

5. to be straggered and fascinated 12. logical decisions

6. to adjust operations 13. to execute instructions

7. enormous number of calculations 14. efficient storage

V. Translate these into English:

. UICIIOJIb30BaTh TEPMHUHAI IIaBHOW KOMIIAaHUHU

. HOKMMAaTbh KHOIIKH Ha KJIaBUaType

. IOJIy4YUTh UHPOPMALIIO

. paznu4HbIe 00pa3bl

. KOMIIBIOTEP BKJIIOYAET U BHIKJIIOYAET MAIlIUHbI

. pa3paboTath 000pyaOBaHUE [T UCCIIeA0BaHU JIYHBI U IPYTHX IIaHET
. 9YyBCTBUTEIbHOE 000pYyI0BaHUE

. QHAJIU3UPOBATh IKCIIEPUMEHTAJIbHBIE TaHHBIE

9. MOryT OBITh UCIIOJIB30BaHbI AJIS1 COUNHEHHS MY3bIKH
10. pabora, ynpasisiemas KOMIbIOTEPOM

11. moMOYb y4EeHBIM ONPENETUTH

12. He MOTYT ymMaTh CaMH

13. XOpOoIIO CIPaBIATHCA C BHITOTHEHHEM

O JIN DN KW~



14. BHOCHUTBBKIIA
V. Give the situation from the text in which the following words and expressions are used:

1. people have some experience 6. to process photographic images of
2. different images 7. to resemble

3. it would be impossible 8. intelligence

4. spacecraft 9. fast speed

5. enable to design 10. magnetic media

VI. Fill in the gaps necessary prepositions:

. People may use a terminal .....the main company ..... work.

. A clerk can press keys .....a typewriter.

. The word computer conjures .....a different images.

. A computer turns the machine .....and ..... .

. Computers help .....building of spacecraft.

. They are used to develop equipment .....exploring the moon and planets.

. Chemists and physicists rely .....computers to control sensitive instruments.

. Computers don’t have intelligence .....the way humans do.

. Computers are good .....arithmetical operations.

10. Computers can store huge amounts of information .....magnetic media.

VII. Ask questions to which the following statements might be the answers:

. People may use a terminal from the main company at work.

. In such a situation the check-in clerk is using the computer to obtain information.

. The word computer conjures up different images and thoughts in people’s mind.

. Numerous factories use computers to control machines that make products.

. A computer turns the machine on and off and adjust their operations.

. Computers help in the building of spacecraft and assist flight engineers in launching.

. Chemist and physicists rely on computers.

. A work generated by a computer may resemble that a certain artist in a birth style and form.

. Computers do only what humans program them to do.

10. Computers obtain huge amounts of information in a few milliseconds.

VII1. Agree or disagree with the following statements:

1. Only a few people have or will have had some experience of «conversing» with computers.

2. The word computer conjures up the same images and thoughts in computer’s brain depending upon
the structure of the computer.

3. Without computers it would be impossible for engineers to perform the enormous number of
calculations.

4. Architectors and civil engineers can’t design complicated bridges and other structures with the help
of computers.

5. Computers haven’t been of tremendous help to researchers in the biological, physical and social
sciences.

6. Poets and physicists rely on computers to control and check sensitive laboratory equipments.

7. Computers can be used to compose music, write poems and produce drawings and paintings.

8. Computers have intelligence in the way humans do.

9. Today, computers are very big, slow and can store little information on magnetic media.

IX. Write the plan of the text to retell it in English.

X. Points for discussion: advantages and disadvantages of computers.

OO ~NO O WN P

OO ~NO O WN P

UNIT 4
I. Look up in the dictionary how to pronounce the following words. Write them down in the dictionary.
circular octal contiguous comparing
to assume a value cell selecting
decimal a location adequate sorting
to handle uniquely precise matching

1l. Read the text and do the exercises that follow it:
Information, machine words, instructions, addresses



and reasonable operations

Information is a set of marks or sings that have meaning. These consist of letters or numbers,
digits or characters, typewriter signs, other kinds of sing and so on. So, information is the end product
of people obtained from computer systems. The process of using computer is circular beginning and
ending with people.

When we see number 562 we normally assume that it represents five hundred and sixty-two. This
is because we are conditioned to the decimal system where the base is 10. Nowadays school children
are taught to handle numbers with different bases such as octal (8) and binary (2). With the number 562
we understand this to mean that we have 5 hundreds, 6 tens and 2 units (5 - 100 + 6 - 10 +2 - 1) so
each digit has a meaning represented by its value and its position.

Computers work by using the binary system where the base is 2. This means that each position
can have a value of 0 or 1. So any information may be represented by the binary system including these
two digits. Because at their most basic level, computers only understand the language of electricity:
positive (or on or 1) and negative (or off or 0). Instead of going up in powers of ten (10,10 x 10,10 x 10
x 10) the positions go up in powers of 2 (2,2 x2,2x2 X 2,2X 2 X 2, etc.)

Thus the binary number 1001 can be represented as:

2 X 2 X 2s position 2 X 2s position 2s position units position
1 0 0 1

Thus number can be converted to decimal

2x2x2x1=8x1=8

2x2x0=4x0=0

2x0=0
1=1
9

So 1001 in binary has the same value as 9 in decimal.

The memory of a computer consists of a large number of locations, each of which in uniquely
addressable. In most modern computers these locations are called bytes. They consists of eight
positions and each position can be set to 0 or 1. These positions are bits. A bit is the smallest part of
information and it is the basic unit of data recognized by the computer. Bits are grouped in units that
are called bytes. A byte consists of eight bits.

A group of contiguous bytes that can be manipulated together is called a word. A word may be 2
bytes (16 bits) or 4 bytes (32 bits) or other combinations. 16 bits can hold number up to 65,535. Word
length is the term used to describe a word’s size in numbers of bits.

The memory of the computer can hold instructions that the control unit acts upon, and it can store
binary numbers on which arithmetical operations can be carried out. A large number of business
operations, and computer-based training in particular, do very little with numbers. They are mostly
concerned with accepting as input, manipulating and presenting as output, large quantities of character
information-names and addresses.

An address is the name of particular memory location or cell. Each memory location (word or
byte) has it own unique address or number just a post office box. If one character is stored in a byte,
there are 256 possible characters that the different bit patterns can represent. That is quite adequate for
all alphabetic characters in upper and lower case, the number 0 to 9 and the various punctuation and
special characters that are found on a typewriter keyboard. One widely used Coding convention is
ASCII (American Standard Code for Information Interchange), pronounced as the two words «ass» and

«key».
This is a part of the ASCII Code
Character % E+ ¢ () * + , - . /
ASCII Code 37 38 39 40 42 43 44 45 46 47
Character 0 1 2 3 4 5 6 7 8 9
ASCII Code 48 49 50 51 52 53 54 55 56 57
Character A B C D E F G H I J
ASCII Code 65 66 67 68 69 70 71 72 73 74

Thus, if we wanted to hold FRANKLIN in part of the correct answer it could be held somewhere
in memory (say location 5390 onwards) as the following ASCII codes:



Letter F R A N K L I N
Code in memory 70 82 65 78 75 76 73 78
Memory location 5390 5391 5392 5393 5394 5395 5396 5397

Computer people generally refer to 1000 (1024 to be precise) byte as a kilobyte (kb) and a
million bytes as a megabyte (mb). So, if somebody has a microcomputer with 640 k memory locations
than means there are 640,000 locations in the machine.

Reasonable operations are mathematical and logical. Mathematical operations include
arithmetical and algebraic operations. Arithmetical operations are addition, subtraction, multiplication,
division, taking a square root, etc.; and algebraic operations are called raising to a power as well as
differentiating and integrating.

Logical operations include comparing, selecting, sorting, matching, etc.

I11. Translate these into your own language:

1. a set of marks and signs 7. bytes

2. circular beginning and ending with people 8. bits are grouped

3. we are conditioned to the decimal system 9. can be manipulated together
4. base 10. to hold instructions

5. including these two digits 11. memory location

6. the positions go up in powers of 2 12. to include

IV. Translate these into English:

1. MHOX€ECTBO 3HAKOB 7. ACCATUYHOC YUCIIO

2. 9UCIO0 IMPEACTaBJIACT 8. 3aIlIOMHHATb, XPAHUTH B MaMATHU
3. ydar paboTarth ¢ YuCIaMHu 9. BBITIOJIHSTH

4. y Ka)XJ0r0 €CTh CBOE 3HAYEHUE 10. TouHO

5. IBOMYHAs CUCTEMA UCUYUCIICHUS 11. pazymHbI€ onepanuu

6. OCHOBHOU YpOBEHb

V. Fill in the necessary words:

1. .....is a set of marks or signs.

2. We are conditioned to the ..... ..... .

3. Computers work by using the ..... ..... where the ..... is 2.

4. The .....of a computer consists of a large number of locations.

5. A .....is the smallest part of information.

6. A byte consists of 8 ..... .

7. The memory of the computer can .....instructions.

8. Computer people generally ..... ..... 1 000 bytes as a kilobyte.

V1. Fill in the prepositions:

1. Nowadays school children are taught to handle numbers .....different bases.

2. .....their most basic level, computers only understand the language of electricity.

3. Instead of going .....in powers of ten, the positions go ..... ..... powers of 2.

4. Each position can be set .....0 or 1.

5. Bits are grouped .....units.

6. The memory can store binary numbers .....which arithmetical operations can be carried ..... .
VII. Give the correct definitions of the following terms:

a) information c) bit e) word g) reasonable operation
b) binary system d) byte f) address

VIII. Answer the following questions:

1. What is information?

2. Do computers work by using binary or decimal system?

3. What is the base of the binary system?

4. How can any information be represented?

5. What is the ASC 11 Code?

IX. Write you last name in letters and codes in memory and in memory locations, use the ASC 11 Code.
X. Retell the text.



UNIT 5
I. Look up in the dictionary how to pronounce the following words. Write them down in the dictionary.

regardless to monitor to fit

to enter a hardware representative

a routing peripheral available

to direct a variety to purchase

a property an occurrence a competitor
to modify to afford incredibly

solely to confine to convince

I1. Read the text and do the exercises that follow it.
Kinds of Computers
All computer systems, regardless of their size, have the same four hardware components:
1. A processor or CPU, where the data input is processed according to the program.
2. Input/output devices or peripherals such as the keyboard and printer, which receive data from people
and enter it into the computer for processing, then send it back to people so it can be used.
3. Storage components such as disk drives or tape drives keep data for later use.
4. Routing and control components, which direct the instructions and/or data from one component to
the next making sure each does its task properly.

Computers are generally classified as general-purpose or special purpose machine. A general-
purpose computer is one used for a variety of tasks without the need to modify or change it as the tasks
change. A common example is a computer used in business that runs many different application.

A special-purpose computer is designed and used solely for one application. The machine may
need to be redesigned and certainly reprogrammed, if, it is to perform another task. Special-purpose
computers can be used in a factory to monitor a manufacturing process; in research to monitor
seismological, meteorological and other natural occurrences; and in the office.

So all computers have in common, but certain computers differ from one another. These
differences often have to do with the way a particular computer is used. That is why we can say there
are different types of computers that are suited for different kinds of work or problem solving.

Personal computer is a computer system that fits on a desktop, that an individual can afford to
buy for personal use, and that is intended for a single use.

Personal computers include desktops, laptops and workstation. Each type of a personal computer
shares many characteristics in common with its counterparts, but people use them in different ways.

The Desktop Personal computer is a computer that:

-fits on a desktop

-is designed for a single user

-is affordable for an individual to buy for personal use.

Desktop personal computers are used for education, running a small business, or in large
corporation, to help office workers be more productive. There are some common desktop personal
computers:

-The IBM PC and PC-compatible

-The Compaq Deskpro 386

-The IBM PS/2

-The Apple Macintosh

The Laptop Personal Computer is a computer that people can take with them, laptop is used by a
single individual but can be used in many different places, it is not confined by its size or weight to a
desktop. It has the same components as a desktop machine but in most cases the monitor is built in.
The printer is usually separate.

Laptops fall into the same general categories as desktop personal computers:

-PC-compatibles

-ABM PC/2

-Apple Macintosh portable

Managers and employees who travel frequently use laptops to keep in touch with their office.
Sales representatives keep company information on their laptops to show prospective clients, and send



electronic orders into the company computers. Writers use laptops so they can work on their
manuscript no matter where they are.

There are many portables available today, some weigh as much as 15 pounds, while others weigh
as little as 3 pounds. There are laptops so small they fit in the palm of your hand. There are laptops that
fit in a briefcase, called notebook computers.

The Workstation is a computer that fits on a desktop, but is more powerful than a desktop
computer. The workstation has a more powerful microprocessor, is able to service more than one user,
has an easy to use interface and is capable of multitasking. While these three characteristics used to be
unique to workstation, they are being adapted to the more powerful 386 and 486 personal computers
over time.

Workstations are designed for three major tasks: scientific and engineering, office automation
and education.

The Minicomputer, or mini, is a versatile special or general-purpose computer designed so that
many people can use it at the same time. Minis operate in ordinary indoor environments; some require
air conditioning while others do not. Minis also can operate in less hospitable places such as on ships
and planes.

Like all computers, the minicomputer is designed as a system. CPUs, terminals, printers and
storage devices can be purchased separately. Mini systems are more mobile, easier to set up and install.
A minicomputer system combined with specialized equipment and peripherals is designed to perform a
specific task. A popular minicomputer is the Digital VAX Computer.

Mainframe is the largest general-purpose computer. It is designed to be used by hundreds even
thousands of people. A mainframe uses the same basic building blocks of a computer system: the CPU,
various /0O devices and external memory.

Most mainframe computers are general-purpose machines. In 1964 introduced the System/360
mainframe computer. It became the most popular mainframe in the computer history.

A Supercomputer is a very fast special-purpose computer designed to perform highly
sophisticated or complex scientific calculations. For example calculating a prime number (one that is
divisible only by 1 and itself),or the distance between planets. But computers permit turning many
other problems into numbers, such as molecular modeling, geographic modeling and image processing.

Cray is a leading supercomputer maker, with IBM and Fujistsy as major competitors.

A Cray X-MP Supercomputer was used to help to make a movie called ‘The last starfighter’
Computer animation isn’t new but using the X-MP added a whole new dimension of sophistication. Its
most remarkable accomplishment was creating the entire bridge of the alien’s starship, complete with
animated aliens walking around next to real actors. Because the Cray could process the image in
incredibly fine detail, the average viewer would think it looked absolutely real. The X-MP allowed
animators to make illusion as convincing as reality itself.

It is interesting to know that ...

PCs and PC-compatibles are used in organization of all sizes. PCs are an office time saver,
allowing the staff to write press releases and legislative testimony, performs accounting tasks, and
prepares mailing lists more quickly. It is also paves the way for organization to complete more
effectively with other public interest groups. Today, over 80 percent of Public Citizen’s employees use
PC-compatibles. Word processing has replaced typewriters, hard disk drive storage has reduced the
amount of paper kept in filing cabinets, and laser printing has cut their outside printing costs
dramatically.

Banks have traditionally used the latest computer technology to automate their own operations,
but First Banks for Business found a way to use personal computers to improve customer service. In
the past, when a customer wanted to cash a check, the signature card had to be compared to verify
identity. That meant looking through a card file or containing central book-keeping, which could take
as long as 30 minutes.

Now Banks for Business installed PC-2s with special graphics capabilities and software called
Signet to perform the task. When the letters retrieve customer account information from the computer,
they see the authorized signatures appear right on the screen. The system also tells them what other
signatories are permitted on the account or if two signatures are required to cash a check. The banks



say the main reason customers change banks is due to bad service. Using the powerful PS-2s signet,
they can cash a customer’s cheek in a minute or less.

People use laptops for many of the same tasks that they use desktops and more.

Astrophysicists use Sun Microsystems workstations for their engineering work. They routinely
sketch graphs and diagrams on the screen using computer-aided drafting software, as well as
sophisticated calculation software to test mathematical equations. They also exchange ideas and
information with each other in electronic messages. One project they have worked on in cooperation
with NASA is the Advanced X-Ray Astrophysic Facility. It is an observatory in space that will
measure cosmic Xrays, which are invisible an earth. The astrophysicists hope that the information
provided will help them understand better how the universe was formed and what is eventual fate will
be.

The Sun workstation performed an additionally important task: helping gather visual and textual
information into a comprehensive report for NASA to explain how an X-ray telescope would function
abroad the observatory. Using electronic publishing software, they combined graphics screens,
mathematical equations, and textual explanations into a document that took just six hours to prepare.
Previously, it would have taken two days.

I11. Fill in the necessary words:

1. .....are generally classified as general — or special-purpose machine.

2. A special-purpose computer is designed and used .....for one application.

3. Personal computer .....on a desktop.

4. Each type of a personal computer .....many characteristics in common with their counterparts.

5. There are many portables .....today.

6. CPUs, terminals, printers and storage devices can be .....separately.

IV. Agree or disagree with the following statements:

1. All computer systems have the same five hardware components.

2. Input/output devices receive data, enter it into the computer for processing, then send it back to
people so it can be used.

3. Storage components don’t keep data for later use.

4. Computers are general-purpose machines.

5. The machine may need to be redesigned and certainly reprogrammed.

6. We can’t say, that there are different types of computers.

V. Ask questions to which the following statements might be the answer:

1. Desktop personal computers are used for education, running a small business or in large corporation
to help office workers be more productive.

2. Laptops fall into the same general categories as desktop personal computers.

3. The workstation is a computer that fits on a desktop.

4. Workstations are designed for three major tasks.

5. A minicomputer system combined with specialized equipment and peripherals is designed to
perform a specific task.

6. A mainframe uses the same basic building blocks of a computer system: the CPU, 1/O devices and
external memory.

VI. Answer the following questions:

1. What have all computers in common?

2. How can we classify computers?

3. What are general /special-purpose computers used for?

4. What are three primary types of personal computers?

5. What is the primary difference between personal computer and workstation?

6. What are major tasks of a workstation?

7. What is minicomputer used for?

8. What does the supercomputer differ from the general-purpose mainframe computer?

9. What are two main characteristics of the supercomputer?

VII. Find the synonyms to the following words:

a component, a device, to receive, to enter, to keep, to handle,

to run, to confine, to fit, terminals, calculation



VIII. Find the antonyms to the following words:

to pay attention to, unprocessed, undirect, monotony, designed
programmed, similar, similarity, unlimited, unite, rare, single, task
together, slow, odd, number, simplicity, to destroy

IX. Match the words of the first column with those of the second one:

1. regardless 1. yoexnath
2. to enter 2. IPOBEPSITH
3. arouting 3. moKymnarb
4. to direct 4. OrpaHUYMBATHCS
5. to modify 5. BXOAUTh
6. to purchase 6. BUIOU3MEHSTH
7. toconvince 7. mporpaMma
8. solely 8. He oOpaliass BHUMaHHE
9. tomonitor 9. nasoHp
10. occurrence 10. mpeacTaBiIsITh/ OBITH B COCTOSIHUT
11. to afford 11. HCKITIOYUTEIBHO
12. to confine 12. yrpaBiasiTh
13. apalm 13. ciyuait
X. Give the definitions to the following terms:
1. computer
2. supercomputer
3. special-purpose computer
4. general-purpose computer
5. personal computer
6. minicomputer
7. mainframe
UNIT 6
I. Look up the words in the dictionary. Write them down.
issuing commands to insert a double click
a desktop non-impact to utilize
to install a seal a beam
a strip a track apin
a wedge a slot a dot
to slide to delete an auxiliary storage
to attach a keypad density

I1. Read the text and do the exercises that follow it.
Input and Output Devices

A peripheral is a device performs input, output or storage functions and is connected to CPU. In
order for the computer to be of use to us, there must be some types of mechanism for entering data into
the computer for processing. Devices which allow the task of data entry to be performed are called
input devices.

Input we use to perform the two basic computational tasks: data entry and issuing commands.
The most widely used input device is the keyboard, which was adapted from the typewriter. The
keyboard is the standard mean for the user to input data into the computer. Unfortunately, it is not a
very satisfactory means of input because most people have little or no knowledge of the layout of a
typewriter keyboard.

The keyboard itself doesn’t contain any mechanism for creating printed pages. Each time a key
on the keyboard is pressed, an electronic signal is sent to the system unit indicating which key was
pressed. The system unit and the software interpret this signal and take the appropriate action.

Some keys are added to terminal keyboards to fulfill special functions. The most important of
these is the RETURN or ENTRY key. This is pressed by the user to indicate to the computer, by the
sending of a special code, that the typed line is complete and that the computer can now analyze it.
Other keys that may be present include a delete key which when pressed deletes the character just



typed, special function keys that can be used for special purpose by different programs and one marked
CONTROL or CTRL which also has a particular function when used with other keys. Some keyboards
may also have a numeric keypad to the right of the typewriter keyboard. This may be of help when
entering numeric data.

There are three keyboard layouts. The first is the standard IBM-PC keyboard. The central portion
of the keyboard consists of the alphanumeric keys, that there are ten function keys (labeled F1 — F10)
on the top side of the keyboard, and there is a numeric keypad, much like that found on a calculator, on
the right side of the keyboard.

The function keys are keys which send special signals to the system unit. The effect of pressing a
given function key will depend on the software which is currently in use.

The numeric keypad is useful when numeric data must be entered into the computer. The
numeric keypad serves two roles. The 1st role is the digits, decimal points and addition and subtraction
signs are active. The 2nd role is the key of the keypad are used to control the small blinking box or line
on the screen which shows the user where the next typed character will be displayed. This line is
known as the cursor. The cursor control keys are the arrows (left, right, up and down), PgUp, PgDn,
Insert and Delete. But there are several types of pointing device that are used to move the cursor and
usually work in conjunction with the keyboard. The most common pointing device is the mouse, so
called because it slides over the desktop and has a wire or ‘tail’ attached to the computer.

So a mouse is a hand-held device with a small rotating ball embedded in the bottom. The mouse
is an opto-mechanical input device. It has three or two buttons which control the cursor movement
across the screen. Each software program uses those buttons differently. The Mouse’s primary
functions are to help users to draw, point and select images on the computer display by moving the
mouse across the screen. In general software programs require to press one or more buttons, sometimes
keeping them depressed or double-click them to issue changed in commands and to draw or to erase
images.

The Mouse slopes gently towards the front, so fingers rest comfortably on the three (or two)
buttons which respond easily, and click when pressed. Especially this feature is helpful when user must
«double-click» the buttons to activate commands. Hardware installation is required to utilize the
mouse.

Another pointing device is a trackball, which performs like a stationary upside-down mouse. A
joystick is another pointing device, one that is usually associated with playing computer games. A
light-pen is used to draw, write or issue commands when it touches the specially designed monitor or
screen. It is a pen-shaped device connected by a cable to the terminal and a thin beam of light shines
from the end. When the pen is pressed on the screen, the co-ordinates of the point are fed to the
computer.

A scanner permits entering text into a computer. There are flat-bed scanners and hand-held
scanners.

Perhaps the easiest way to enter data into a computer is by speaking, called VVoice Recognition.
Source data input refers to data fed directly into the computer without human intervention.

If the result of the processing is to be any use to us, the system unit must somehow convey these
results to us. Devices which are used for this purpose are called output devices. Today, most outputs
are visual in nature, produced by two devices: a video display screen monitor or a printer. Most
computer outputs come in two forms: text and graphics. A monitor may be referred to as a cathode Ray
Tube (CRT) — a vacuum tube such as the picture tube on a television set — that is used to generate the
display on most monitors. Portable computers usually rely on other, less bulky, technologies, such as
liquid crystal diode (LCD) or gas plasma displays. Each monitor has either a color or a monochrome
display and has varying degrees of picture sharpness. The sharpness or resolution of a video display is
often stated in term of the number individual dots which can be displayed on the screen. These
individual dots are called pixels (picture elements). The typical display will allow 25 rows and 80
columns of textual material.

Printers are output devices which produce hardcopy. Printers come in all kinds of shapes and
sizes, with varying capabilities and mechanisms for printing. The important thing is the user must be
sure that the printer is appropriate to the type of output that he wishes to produce. There are three main
types of printers: a dot-matrix printer, a letter quality printer and a laser printer.



A dot-matrix printer produced output by having small pins strike a ribbon, producing a pattern of
dots on the paper. A letter quality printer uses the same technology as a typewriter, with type holding
the reserved images of fully formed characters striking the ribbon. Dot matrix printers can also produce
both characters and graphics by building a pattern of dots.

A laser printer provides high-quality non-impact printing and offers the highest quality texts and
graphics printing for the desktop. A laser printer is like a dot-matrix printer is produced by generating
patterns of dots; this is done electronically, so that the pattern can be extremely fine, making the
individual dots indistinguishable to the naked eye.

A letter quality printer is unable to produce both characters and graphics by building a pattern of
dots, because a dot pattern is not used to produce characters. A letter quality printer allows the
production of documents with a high quality of printing at a relatively low cost.

There are another types of printers. Inkjet printers transfer characters and images to paper by
spraying a fine jet of ink. Like lasers, they are able to print many different types of fonts and graphics.

Other printers include plotters, that use colored pens for scientific and engineering drawing and
thermal printers that use heat to form a nonimpact image on paper.

Computer output can also be sent to another machine, device or computer. Computer output task
involved micrographics. Micrographics is a way to store output on a film. Output is sent to a special
machine that reduces its size and records it 10 to 20 times faster than printing.

There are two methods of storing and accessing instructions or data in auxiliary storage. One is
direct access and the other is sequential access.

Direct access, called random access, means the data is stored in a particular memory location.
Direct access storage devices or DASD are magnetic disk drives use for auxiliary storage. There are
two types of DASD: floppy disks and hard disks. Floppy disks are divided into two sizes of portable
magnetic disks, which are commonly in use. The first of these is the 5.25 floppy disk. The second of
these is the 3.5 floppy disk. Both these disks are called diskettes, because the disk material itself is a
strong, flexible (floppy) plastic. The 5.25 disk has a heavy, but flexible, plastic envelope that protects
the actual disk. The 3.5 disk has a rigid plastic casing to protect the disk.

The capacity of disks is determined by the density with which the metallic particles are placed on
the disk; so the capacity of a disk is expressed in terms of this density. A 5.25 double density disk can
hold approximately 360K bytes, a 5.25 high density disk can hold 1.2 megabytes. A 3.5 double density
disk can hold 720K bytes, a 3.5 high density disk can hold 1.44 megabytes.

Hard disks operate in a similar fashion to floppy disks, but the disk itself is made from a rigid
material — often aluminum. In most personal computers the hard disk and the hard disk drive are single
unit that is permanently installed. The hard disk is a sealed unit manufactured to fine tolerance, it can
operate at higher speed and store more data and information than floppy disk systems. A common size
for a hard disk is 40 megabytes, which can hold as much data as over double density 5.25 floppies.

On disk type storage, data is magnetically laid out in tracks and sectors. Tracks are concentric
circles on which data is recorded. Sectors are pie-shaped wedges that compartmentalize the data into
the addresses for the head to locate. Multiple head disks drives organize tracks into cylinders, a vertical
stack of tracks that make it easier for the head to locate the data.

I11. Translate these into your own language:

1. input, output or storage functions 10. a stationary upside-down mouse
2. to be of use to us 11. without human intervention

3. basic computational tasks 12. less bulky

4. the standard mean 13. naked eye

5. interpret the signal 14. spraying a fine jet of ink

6. numeric keypad 15. fonts and graphics

7. central portion 16. direct and sequential access

8. small blinking box 17. flexible, plastic envelope

9. small rotating ball embedded in the bottom

IV. Translate these into English:

1. BBOJHOE YCTPOMCTBO 10. kypcop

2. BBIBOAHOC yCTpOﬁCTBO 11. nerko nepeABUTACTCS 11O CTOTY

3. KJIaBHaTypa 12. HeobxoaumMo HaXxaTh | win 2 KHOTIKA



4. pe3ynbTaTUBHBIE KOMAH/IbI 13. IBOMHOM IIIETUOK

5. 175 co37jaHus HareyaTaHHbIX 00pa3oB 14. ynanute

6. BBITIOJTHATH CHEIUaIbHbIC (PYHKITUN 15. coeIMHEHHBINA ¢ TOMOIIBIO Ka0esd
7. caoun 16. XKuakuii KpyCTaAIITUYECKUNA U0/

8. crpaBa 17. 4eTKOCTh N300paKEeHUS

9. cnenyromuiiHaNIeYaTAHHBIHCHMBOJT

V. Fill in the gaps necessary words:

. A peripheral is a .....that performs input/ output or ..... functions.

. There must be some type of mechanism for .....data into the computer for ..... .
. Input is used to perform two basic computational tasks .....and ..... .

. There are three keyboard ..... .

. The numeric .....is useful when numeric data must be ..... into the computer.
. The mouse is a .....unit with a small rotating ball.

. A user must .....the buttons to activate the command.

. The system unit must .....the results to us.

. Printers are .....devices which produce ..... .

0. .....or .....are magnetic disk drives use for auxiliary storage.

11. The .....of disks is ..... by the density.

12. The .....is a sealed unit, which is installed by the manufacturer.

VL. Fill in the prepositions:

1. A keyboard was adapted .....the typewriter.

2. Special function keys can be used .....special purpose ..... different programs.
3. There are 10 function keys .....the top side of the keyboard.

4. Numeric data must be entered .....the computer.

5. Joystick is usually associated .....playing computer games.

6. A scanner permits entering text .....a computer.

7. Vacuum tube is used to generate the display .....most monitors.

8. Micrographics is a way to store output .....film.

9. Floppy disks are divided .....two sizes of portable magnetic disks.

10. The capacity of disks is determined by the density .....which the metal particles are placed ..... the
disk.

VII. Find the synonyms to the following words:

a unit, a memory, a device, to permit, to correspond (to)

input/ output, to erase, a part, to direct, to slip, to insert

to transfer, to diverse, to short, to use

VIII. Find the antonyms to the following words:

to forbid, narrow, a main unit, hardly, to forget, dull

to separate, to enter commands, without results, inappropriate

to release, top, rouge, to store, a thick beam, beginning

lower speed, hard disk, inconstant, soft copy, impact

printing, low quality, expensive, to pollute

IX. Give the definitions to the following terms:
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1. input device 7. a joystick

2. output device 8. voice recognition
3. a keyboard 9. printer

4. a mouse 10. hard-disk

5. a scanner 11. floppy disk

6. trackball

X. Which sentences don’t correspond to the sense of the text:

1. Input we use to perform the two basic computational tasks: data entry and issuing commands.

2. There are a lot of kinds of keyboards. IBM manufactures a keyboard which has a split-keypad,
gently sloping keyboard that fits more closely to natural position of your hands and wrists.

3. The most common pointing device is the mouse. The mouse’s primary functions are to help users to
draw, point and select images on the computer display.



4. There are a lot of output devices. The most convenient is when scanner, printer and fax are united
together in one.

5. There are several types of auxiliary storage. Floppy disks are divided into two sizes: 5.25 floppy disk
and 3.5 floppy disk.

XI. Answer the following questions:

1. What is the peripheral?

2. What can input units perform? Name the input units. Give them short characteristics.

3. What can the output units perform? Name them and give them short characteristics.

4. How many methods of storing and accessing instructions or data are in the auxiliary storage?

5. How many types of disks do you know? Give the features to the floppy disks, to the hard-disks.

XI1. Write the plan for retelling.

XI11. Retell the text.

UNIT 7
I. Look up in the dictionary how to pronounce the following words. Write them down in the dictionary.
interchangeably a portion a decoder a bistable device
to retrieve a flow timing marks an adder
a reference a counter a bank

I1. Read the text and do the exercises that follow it.
The Central Processing Unit and Arithmetical Logical Unit (CPU and ALU)

It is common practice in computer science for the words ‘computer’ and ‘processor’ to be used
interchangeably. More precisely, ‘computer’ refers to the central processing unit (CPU) together with
an internal memory. The internal memory, control and processing components make up the heart of the
computer system. Manufactures design the CPU to control and carry out basic instructions for their
particular computer.

In digital computers the CPU can be divided into two functional units called the control unit
(CU) and the arithmetical-logical unit (ALU). These two units are made up of electronic circuits with
millions of switches that can be one of two states, either on or off.

The function of the control unit within the central processor is to transmit coordinating control
signals and commands. The control unit is that portion of the computer that directs the sequence or
step-by-step operation of the system, selects instructions and data from memory, interprets the program
instructions, and controls the flow between main storage and the arithmetical-logical unit.

A control unit has the following components:

a) a counter that selects the instructions, one at a time, from the memory;

b) a register that temporarily holds the instruction read from memory while it is being executed;

c) a decoder that takes the called instruction and breaks it down into individual commands
necessary to carry it out;

d) a clock, which while not a clock in the sense of a time-keeping device, does produce marks at
regular intervals.

This timing marks are electronic and very rapid.

The arithmetical-logical unit (ALU) is that portion of the computer in which the arithmetical
operations, namely, addition, subtraction, multiplication, division and exponentiation, called for in the
instructions are performed.

Programs and the data on which the control unit and the ALU operate, must be in internal
memory in order to be processed. Thus, if located on secondary memory devices such as disks or tapes,
programs and data are first loaded into internal memory.

The primary components of the ALU are banks of bistable devices, which are called register.
Their purpose is to hold the numbers involved in the calculation and hold the result temporarily unit
they can be transferred to memory.

At the core of the arithmetical-logical unit is a very high-speed binary adder, which is used to
carry out at last the four basic arithmetical functions (addition, subtraction, multiplication and
division).

Typical modern computers can perform as many as one hundred thousand additions of pairs of
thirty-two binary numbers within a second.



The logical unit consists of electronic circuitry, which compares information and makes
decisions based upon the result of the comparison. The decisions that can be made are whether a
number is greater than, equal to, or less than another number.

I11. Find English equivalents in the text:

1. 6onee TOYHO

. BHYTPEHHSS TaMATh

. YOPaBJIATh U 00pabaThIBaTh

. CEepALE KOMIIBIOTEPHON CUCTEMBI

. BBITIOJIHATb OCHOBHBIC HHCTPYKIIUHN

. MUJIJIMOHBI HCpCKHIOanGHeﬁ

. IepcaaBaTb KOHTPOJIbHBIC CUTHAJIbI

. 4aCTb KOMIILIOTCpa

9. cYeTUHK, KOTOPHII BEIOMpPAET UHCTPYKITUU

10. BpeMEHHO yAepKUBaTh

11. mepenenbiBaTh (IEPEBOANTH) MHCTPYKIIMY B MHIUBUIYaIbHBIC KOMAH/IbI

12. ycTpoiCcTBO, KOTOPOE MOKA3bIBAET BpEeMs

13. Bo3BenEHUE B CTEIIEHD

14. 3arpyxath

15. cpaBHUBaHUE

IV. Give Russian equivalents to the following words and expressions:

1. common practice

2. to be used

3. manufactures design the CPU

4. can be divided into two functional units

5. are made up of electronic circuits
6
7
8
9
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. to transmit coordinating control signals
. the sequence or step-by-step operation
. to interpret the program instructions
. the flow between main storage and the ALU
10. one at a time
11. is being executed
12. rapid
13. in order to be processed
14. secondary memory device
15. involved
16. within a second
V. Give the situations from the text in which the following words and expressions are used:

1. the words computer and processor 6. located

2. the internal memory 7. first loaded

3. the function of control unit 8. primary components
4. components 9. high-speed binary adder
5. the arithmetical-logical unit 10. electronic circuitry

VI. Fill in the blanks necessary words and prepositions:

1. More precisely, ‘computer’ refers .....the central processing unit.

2. The CPU can also .....information from memory and can ..... the result of manipulations back into .....
unit .....later reference.

3. The control unit is that portion of the computer that .....the sequence operations of the system, selects
..... and data ..... memory and controls the flow ..... main storage and the ALU.

4. Programs and the data on which the control unit and the ALU operate, must be in .....to be processed.
5. At the core of the arithmetical-logical unit is a very high-speed.

6. Modern computers can .....more than one hundred thousand additions ..... thirty-two bits within a
second.

7. It is common practice in computer science .....the words ‘computer’ and ‘processor’ to be used.

VII. Find in the text synonyms to the following words:



to define, to put in, to order, among, choice

to be situated, to fulfill, main, couple, part

VII1I. Find in the text antonyms to the following words:
external ,to join, secondary, particular, unchangeable, to take
to give, permanently, unnecessary, irregular, more, original
IX. Answer the following questions:

1. Where does the word ‘computer’ refer to?

2. How can the CPU in digital computers be divided?

3. What is the function of the control unit?

4. What components has a control unit?

5. What is the arithmetical-logical unit?

6. Where are programs and data first loaded?

7. What are the primary components of the ALU?

8. What can modern computers perform?

X. Retell the text in English.

UNIT 8
I. Look up in the dictionary how to pronounce the following words. Write them down in the dictionary.
to run RAM (random access memory) to assist
to direct Volatile memory a repository
to involve ROM (read only memory) disk drive

firmware
I1. Read the text and do the exercises that follow it.
Computer Memory

Software gives instructions that tell computers what to do. There are two kinds of software. The
first is System Software and includes programs that run the computer system or that aid programmers
in performing their work. The second kind of software is Application Software, which directs the
computer to perform specific tasks that often involve the user.

Memory is the general term used to describe a computer system’s storage facilities. Memory’s
job is to store the instruction or programs and data in the computer. Memory can be divided into two
major categories: 1. main memory, 2 auxiliary storage. Main memory is also called main storage,
internal storage or primary storage and is a part of the CPU. Main memory is usually on chips or a
circuit board with the other two components of the CPU. RAM for Random Access Memory, is the
storage area directly controlled by the computer’s CPU. Main Memory assists the control unit and the
ALU by serving as a repository for the program being executed and for data as it passes through. RAM
or Volatile memory so called because its contents are replaced when new instructions and data are
added, or when electrical power to the computer is shut off. RAM is read-write memory, in that it can
receive or read data and instructions from other sources such as auxiliary storage.

Another type of memory is ROM or Read Only Memory. ROM holds instructions that can be
read by the computer but no written over. ROM is sometimes called firmware because it holds
instructions from the firm or manufacturer.

Auxiliary storage, also called auxiliary memory or secondary storage, is memory that
supplements main storage. This type of memory is long-term, Nonvolatile Memory. Nonvolatile means
that computer is turned off or on.

I11. Fill in the blanks necessary words:

1. .....gives instructions that tell computers what to do.

2. .....directs the computer to perform specific tasks that often involve the user.
3. Memory’s job is to store ..... .

4. ... can be divided into two main categories.

5. Main memory is usually on ..... :

6. .....Is read-write memory.

7. .....holds instructions that can be read by the computer but no written over.
8. .....Is memory that supplements main storage.

9. .....means that the computer is turned off or on.



IV. Fill in the prepositions:

1. Memory can store instructions, programs, data .....the computer.

2. Main memory is usually .....chips or a circuit board ..... the other two components of the CPU.
3. RAM ....random access memory is the storage area controlled ..... the computer’s CPU.

4. Memory so called because its contents are replaced, when instructions are added or when electrical
power is shut ..... .

5. ROM holds instructions that can be read, but no written ..... :

V. Find the synonyms to the following words:

a storage device, to perform, to handle, to process, a portion

to transmit, to store, a routing

VI. Find the antonyms to the following words:

to take away, to break down, secondary, external

old instructions, switch on, short-term

VII. Which sentences don’t correspond to the sense of the text?

1. CMOS is used in PCs to store information such as the amount of installed memory.

2. Software gives instructions that tell computers what to do.

3. CMOS also contains a wonderful clock with a built-in-alarm, which we don’t get to use.

4. The Software as most intangible products is not always capable of being readily evaluated.

5. Volatile memory is replaced when new instructions and data are added.

6. Firmware holds instructions from the firm or manufacturer.

7. CMOS memory is used on IBM compatible machines to store system information that needs to be
preserved even when the computer is turned off.

VIII. Give the definition to the following terms:

1. software 5. RAM

2. memory 6. ROM

3. main memory 7. volatile memory

4. auxiliary memory 8. nonvolatile memory

IX. Answer the questions:

1. Does software give instructions that tell computers what to do?
2. How many kinds of software do you know? What are they?

3. When do you use the term ‘memory’?

4. What is the job of memory?

5. Can you name two major categories of memory?

X. Retell the text.

UNIT 9
I. Look up in the dictionary how to pronounce the following words. Write them down in the dictionary.
accounting to edit a folder
drafting to finance schematic
spreadsheet charts via
to gain to scatter enhance
to create a cabinet brochures

I1. Read the text and do the exercises that follow it.
Application Programs

An Application Program is a software program that performs a specific function, such as
accounting, word processing or drafting. There are some categories of application program to choose
from spreadsheet, Database Management, Computer Aided Design (CAD), Communications, Graphic
presentations, desktop Publishing, Integrated Programs, Window and Windows — based Programs.
Within each category, there are several software programs which have gained industry-wide
acceptance.

Word processing: is the most common application for a personal computer. Most word
processing software programs allow us to create, edit, and save documents, along with changing the
position of the text in a document, inserting new information in the middle of the text, or removing
words and sections no longer needed. With a typewriter, you would have to re-type the entire



document after a few major changes. Given a computer, a document can be stored electronically and
retrieved at any time for modification.

Examples of word processing programs include: — Word Perfect; -MS-Word; —Multimate; —
Wordstar; —Displaywrite; ~Word for Windows; ~Word Perfect for Windows.

Accounting and spreadsheets: One of the primary functions of the first mainframe computers
was to store and calculate volumes of financial data for banks and large businesses. Nowadays, a
personal computer is capable of handing the accounting and finances of almost any small to medium-
sized business. Many different programs are available for plotting financial trends and performing
everyday bookkeeping functions. One of the most popular financial tools is called a spreadsheet. An
electronic spreadsheet is a software program, which performs mathematical calculations and ‘want — if’
analysis. Besides replacing your pencil and calculator for solving financial and statistical problems,
spreadsheets can display line graphics, bar chats, and scatter plot diagrams. Often accounting and
spreadsheet programs are designed to work together, in efforts to provide the financial solution.

Examples of accounting programs include: ACCPAC Simply Accounting, ACCPAC plus,
Business Vision Turbo, New Views Accounting, Great Plains, Dac Easy, Peach Tree, Abacus II.

Examples of spreadsheet programs include: Lotus 1-2-3, MS-Exel, Quatro Pro, Supercale.

Database Management. A database is a simply collection of related information. Some common
examples are a phone book, an inventory list, a personal file. A Database Management Software
program assists in manipulating and organizing the information in a database. A database application is
any task ordinarily handled by a filing cabinet, multiply file folders, or some other information storage
system. In a manual system, for example, each drawer in filing cabinet is reserved for a specific
purpose, such as maintaining profile sheets on customers. Each profile is written on a standard form
and a clerk places the file folder in the drawer. This manual process is identical to a computerized
database, where the database software performs the function of the filing clerk. Rather that placing the
customer profiles in the filing cabinet drawer, a computerized database stores each profile
electronically on a disk.

Some examples of a database management programs: Dbase, R:BASE, Paradox, FoxPro,
Q&A, Oracle.

Computer Aided Design. Computers are the perfect tools for creating drawing or architectural
plans. Because the drawings can be saved, it is easy to incorporate modifications, design improvements
and corrections. Computers are often used on the final process of converting a computer drawing into a
physical product. One such example is the manufacturing of electronic circuit boards. First, the
electronic circuit drafting program produces the schematic design, then a second program tests the
design by simulating the circuit’s operation, and finally a third program constructs the circuit board
from the design layout.

Computer Aided Design programs are: AutoCAD, TANGO, PCAD, Generic CAD.

Communications: Computers can communicate with each other via regular telephone lines and
modems. Communication software programs enable different types of computers to exchange data
using a common language. The IMB PC can actually emulate various types of equipment, around the
world, with the help of software. Communication programs are: Smartcom, Kermit, Crosstalk, PC
Talk, Pro Comm, PC Anywhere, CloseUp.

Graphic Presentations: There are actually some people, who prefer to look at 14 columns of
numbers across several pages for analyzing a business’ performance. These people are called
accountants. However, most people are visual learners of diagrams, graphs and charts for representing
numerical trends. There are a variety of programs for displaying information graphically: —Lotus 1-2-3,
Exel, Quatro Pro, Chartmaster, Chart, Harvard Graphics, MicrografixPowerpoint, DrawPerfect.

Desktop Publishing is the process of taking a document and inserting graphics and applying
enhanced formatting options. These programs take text from the more common word processor and
produce print-shop quality output. Desktop publishing programs are used to create newsletters,
brochures, reports, book and other publications.

Desktop publishing programs include: Aldus PageMaker, Ventura Publisher, AMI
Professional. Integrated Programs: they unite one or more of the primary computer applications,
whether word processing, spreadsheet or database into a single package. These programs allow people



to experiment with the major computer applications, while only investing in a single product. The post
popular integrated programs are: -MS-Works, Q&A, Eight in one, Symphony, Framework.

Microsoft Windows. Windows is a program, which enhances many aspects of using a
microcomputer. It provides a graphical user interface (GUI and pronounced «Gooey») for programs
running under the Windows environment. In other word, Windows allows a person to use a mouse and
choose special symbols to point at and select desired functions, rather than having to remember
commands. As well Windows’ products allow a WYSIWYG (‘what you see is, what you get’) screen
display, especially important for word processing and desktop publishing programs.

Here are some examples of Window — based products:

1. Word Perfect for Windows (word processing).

MS-Word for Windows (word processing).
MS-Exel for Windows (spreadsheet).
Aldus Page Maker (desktop publishing).
AMI Professional (wordprocessing).

6. ACCPAC SimplyAccounting (accounting).

I11. Translate these into your own language:

. software program

. application program

. industry-wide acceptance

. along with changing the position

. no longer needed

. to re-type the entire document

. calculate volumes of financial data

. bookkeeping functions

. to assist in manipulating and organizing the information

10. perfect tools

11. program tests the design

12. emulate various types

13. select desired functions

IV. Find English equivalents to the following words and expressions in the text:
1. BEINOTHATH cienupuuecKyro ¢ yHKITHIO

. caMas paclpoCTpaHEHHas IPUKIaJHAas [IporpaMma

. CO31aBaTh, pCAAKTUPOBATH, COXPAHATHL JOKYMCHTLIL

. BCTaBJISITh HOBYIO HH(OPMAIUIO

. YAAJIATH CJIOBA, KOTOPBIC 0obIIIE HE HYXXHBI

. MOXCET COXPAaHUTBCA IJICKTPOHHO

. HOJIYYUTDH B r00o0e BpeMA

. OBITH CITOCOOHBIM, OBITH B COCTOSTHUU YTO-TU00 BBIIOIHATH

9. py4Hol npouecc

10. mmact

11. ucnonw3yercs, 4ToObI CO3AAThH

12. MO3BOIACTITIOIIMIKCIIEPUMEHTHPOBATH

13. BeIOpath

V. Finish the sentences according to the text.

1. An application program is a software ..... .

2. Word processing software programs allow us ..... :

3. An electronic spreadsheetis a ..... .

4. A data base application is any task ..... .

5. Computers are perfect tools for ..... .

6. Communication programs enable different types of computers ......
7. There are some people who prefer to look at 14 columns of numbers across several pages for ..... .
8. These programs take text from the more common word processor and ..... .
9. Windows allows a person ..... .
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VI. Give appropriate definitions and examples of the following application programs:

1. word-processing 5. communications

2. accounting and spreadsheets 6. graphic presentations
3. database management 7. desktop publishing

4. computer aided design 8. Microsoft Windows

VII. What kind of programs do you choose to perform the following tasks:

1. to create, edit and save documents;

2. to make a phone book, inventory list, a personal file;

3. to store and calculate volumes of financial data for banks;

4. to use a mouse and choose special symbols to point at and select desired functions;
5. to create drawings or architectural plans;

6. to communicate with other persons via regular telephone to exchange data using a common
language;

7. to unite one or more of the primary computer applications.

VIII. Answer the questions:

1. What is an application program?

2. What does word processing software program allow to do?

3. What was one of the primary functions of the first mainframe computers?

4. What is a personal computer capable doing now?

5. What is spreadsheet?

6. What is database?

7. What are the perfect tools for creating drawings?

8. What are desktop publishing programs used to?

9. What is windows?

IX. Give a short summary of the text.

UNIT 10
I. Look up in the dictionary how to pronounce the following words. Write them down in the dictionary.
flipping toggle to comprise a notation to issue ambiguity
awkward to declare a source a compiler to retrieve

I1. Read the text and do the exercises that follow it.
Programming Languages

Programming has been with us for over 40 years but it wasn’t born at the time as the first
computers. When the first early computers were built, there were no programming languages. First
machines were initially programmed by flipping toggle switches and changing cables. Needless to say,
this was a slow, awkward process. People began quickly searching for a better, faster way to issue
instructions to the computer.

The result was what we call Programming Languages. The programming languages fall into three
general categories. They are comprised of ones and zeros, and are directly understood or executed by
hardware. Electronic circuitry turns these 0s and 1s into the operations the computer performs.

Assembly Languages are powerful programming tools because they allow programmers a large
amount of direct control over the hardware. They offer programmers greater ease in writing
instructions but preserve the programmer’s ability to declare exactly what operations the hardware
performs. Assembly languages are machine-specific, or machine-dependent. Machine-dependent
means the instructions are specific to one type of computer hardware. Assembly languages are still
provided by most computer manufacturers — they can’t be translated and used on another computer.

Assembly code for a Prime mini won’t work on a Digital mini. Assembly code can’t even be
transferred between some machines built by the same manufacturer. For the most part, assembly
languages are used by systems programmers to develop operating systems and their components.

So Assembly languages were the first bridge between the English Language and the computer’s
binary language. The creation of high-level programming languages followed. A high-level language is
a language in which each instruction or statement correspond to several machine code instructions.



As high-level languages are a method of writing programs using Englishlike words as
instructions, they allow users to write in a notation with which they are familiar, e.g., Fortran in
mathematical notation, Cobol in English.

High-level programming languages combine several machine language instructions into one
high-level instruction. Low-level languages required only a single letter or a short mnemonic a term, or
a word that is easy to identify, such as ADD for addition. High-level language requires just a single
statement.

A Statement is an expression of instruction in a programming language. For example, PRINT
FILE, TXT is a statement. A statement translates into one or more instructions at the machine language
level. Each programming language includes a set of statement and a syntax. Syntax is the set of rules
governing the language’s structure and statements. The syntax rules may include how statements are
written, the order in which statements occur, and how sections of programs are organized.

FORTRAN was created in 1954 by John Backus. And it was one of the first high-level languages
for FORmularTRANSslator. Fortran allows programmers to calculate complex formulas with a few
source code instructions. It is used for scientific and mathematical problems. The source program is
written using combination of algebraic formulas and English statements of a standard but readable
form.,

Another high-level machine language is Cobol. Cobol was developed by the Conference on Data
Systems Languages. Cobol was issued by the US Government Printing Office in 1960. Cobol stands
for Common Business-Oriented Language. The source program is written using statements in English.
It was made for business industry, government and education applications. This means that Cobol «has
a place for everything» and requires programmers to «put everything in its place». Cobol programs are
separated into four sections, called divisions:

1. The Identification Division (pa3aenunentudukanuu) documents the program name, the
programmer’s name (s), dates and any other important identification information.

2. The Environment Division (pa3aeno6opynoBanusi) names the computer hardware, including the
CPU and 1/O devices.

3. Data Division (pa3nennannbix) identifies all associated files and working storage sections of the
program.

4. The Procedure Division contains all the instructions in the Cobol program.

Cobol divisions are further divided into paragraphs and sections. This structure helps
programmers write code efficiently and with a minimum of repetition and confusion.

Algol was developed as an international language for the expression of the algorithms between
individuals, as well as programming language. It was introduced in the early 1960s. Algol stands for
ALGOrithmic Language. This language is used for mathematical and scientific use. An Algol program
consists of data items, statements and declarations, organized into a program structure BASIC or the
Beginners AU-purpose Symbolic Instruction Code, was developed over a period of years by professors
John Kemeny and Thomas Kurtz and students in the computer science program at Dartmouth College.
It was released in 1965. In most versions, BASIC is an unstructured language. The original Basic was
easy to learn allowing computer users to write simple programs within a few minutes.

Basic uses five major categories of statements:

— Arithmetical statements allow users to use Basic like a calculator

— Input/ Output statements, including READ, DATA, INPUT and PRINT

— Control statements including GOTO, IF-THEN, FOR, NEXT and END control the sequence of
instructions executed by the computer

— Other statements help document Basic programs and set up data dimensions respectively

— System Commands tell the operating system how to work with Basic programs

RUN means execute a program

LIST directs the computer to display a Basic program.

I11. Fill in the gaps necessary words or expressions:

1. First machines were .....by flipping toggle switches and ..... :
2. The programming languages fall into ..... .

3. They are comprised of .....and ..... .

4. ..... are powerful programming tools.



5. Machine-dependent means ..... .

6. A high-level language is a language in which ..... .

7. .....1s an expression of instruction in a programming language.

8. .....allows programmers to calculate complex formulas with a few source code instructions.
9. .....stands for ALGOrithmic Language.

10. Basic uses ..... .

IV. Fill in the prepositions:

1. Programming has been .....us for over 40 years.

2. People began searching .....a better, faster way to issue instructions to the computer.
3. They offer programmers greater ease .....writing instructions.

4. Assembly code .....a Prime mini won’t work ..... a Digital mini.

5. Assembly languages were the first bridge .....the English Language and the computer’s binary
language.

6. A statement translates .....one or more instructions ..... the machine language level.
7. System Commands tell the operating system how to work ... Basic programs.
V. Find the synonyms to the following words:

to execute, a tool, to allow, to preserve a notation, to issue, to differ

VI. Find the antonyms to the following words:

to die, to be destroyed, important, slowly, indirectly, difficulty

low level, unfamiliar, high level, to unite

VII. Give appropriate definition of the following terms:

1. programming languages

2. Assembly Language

3. Cobol

4. Algol

5. Basic

VIII. Give the situation from the text in which the following words and expressions are used:
. for over 40 years

. slow, awkward process

. three general categories

. a large amount of direct control

. machine-dependent

. to develop operating systems and their components

. combine several machine language instructions

. a set of statements

. a few code instructions

0. write code efficiently

X. Answer the questions:

. How were the first computers programmed?

. What is an example of assembly language?

. What does the term machine-dependent mean?

. What is an assembly language primary used for?

. What is a high-level language?

. What does it combine?

. What is a statement/syntax?

. When was FORTRAN created? What is Fortran?

. When was Cobol created? What is Cobol?

10. How many sections are Cobol separated into?

11. What is Algol (when was it developed and for what)?

12. What is Basic?

13. What are major categories of Basic?
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3. METOAWYECKHE PEKOMEHJAIIUH 11O BBIITOJIHEHUIO
CAMOCTOATEJBHOU PABOTBI OBYYAIOIIUXCA

Metoanyeckie peKOMEHAAUU pa3paboTaHbl B COOTBETCTBHHM C TPOTPaMMON  y4eOHOM
muctummuael - OI'CHD.04  «MHOCTpaHHBIM  s3BIK B NMPOGECCHOHATBHOW — JEATEIBHOCTHY», |
npeAaHazHaueHbl Ui oOydarommxcs crnenuanbHoctd 09.02.07 «H(bOpManmoHHBIE CHCTEMBI |
MIPOrpaMMHUPOBAHUEN.

CamocTtosTenbHas paboTa BBIMOJIHAETCS OOy4YaIOUIMMCS MO 3aJaHHI0 MpernojaBarens, HO 0e3
ero HemocpeacTBeHHOro yuactus. CamocTosTenbHas paboTra 0OydarOUIMXCs, OKa3bIBAOLIAs
s¢dexkTrBHOE BIWSHHE HAa (OPMUPOBAHHE JMYHOCTH OYyIYIIEro CHEIUAINCTA, IUIAHUPYETCS
00yJaroImuMcsi caMoCTOsTeNbHO. Kakaplii 00ydaromuiics caM OnpeAensieT PeKuM CBOe paboThl U
Mepy TpyZAa, 3aTpauMBacMOro Ha OBJAJIEHUE YYEOHBIM COJIEp)KaHUEM IO KakIou nucuuiuiiHe. OH
BBITIOJTHSET CaMOCTOSITENIbHYIO paboTy M0 TUYHOMY, MH/IMBUIyaJbHOMY IIJIaHY, B 3aBUCHUMOCTH OT €T0
MOATOTOBKH, PACI0JIaraeMOro BPEMEHHU U JPYTUX YCIOBHIA.

Bo Bpems caMocTOSTENIbHOM MOATOTOBKY 00YyYaroIIuecs T0JKHBI ObITh 00€CIeUeHbl JOCTYIIOM
K COBPEMEHHBIM NMPOQeCCHOHATBHBIM 0a3aM JIaHHBIX, KHH(OPMAIMOHHBIM pecypcam cetu HTepHeT.

O0beM BpeMeHHU, OTBEICHHBIN Ha CAaMOCTOSTENbHYIO paboTy, MpeacTaBiseT co0oil Jorniaeckoe
MPOJOJKEHHNE ayTUTOPHBIX 3aHATUH.

B xome camocrositenbHON paboTel mpu u3ydeHuu aucuuruinabel  OI'CD.03«HOCTpaHHBIH
SI3BIK» 00yUYaOIIUMCSl PEKOMEHIyeTCsl 00paTUTh BHUMAHHE Ha CIIEAYIOLNE OCHOBHBIE BOIIPOCHI:
Mexnynaponnoe obmenue. [lpencrasienne u 3HaKOMCTBO
[Ipodeccun.llpodeccuonanpupie kKauecTBa
Hcropus co3gaHust KOMIIbIOTEPA
HedopmanbHbliii pa3roBop Ha U3BECTHBIE OBITOBBIE TEMBI
[lepcoHasibHBIN KOMITBEOTED
OcHOBHBIE BUIbI IEPCOHAIBHBIX KOMIBIOTEPOB
AmnmnapatHoe obecrnieueHre
[Iporpammuoe obecrieuenre. Bumbl mporpaMm, ux pacupeneicHue
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OrnepalnOHHBIE CUCTEMBI

[EEN
o

. IIporpammupoBanue

. SI3bIKM TpOrpaMMUpPOBaHUS

. IIpoexTupoBaHue IPOrpaMMHOIO MPOAYKTA
. Mup cereBoit HHPpOpMALUU
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. S3bIk porpammupoBanus Pascal

[EEN
a1

. S3bIk nporpammupoBanust Delphi

[EN
(2]

. SI3bIk nporpammupoBanus C+

[EEN
\‘

. ba3bl maHHBIX

[EN
oo

. UnaTepner

[EEN
O

. Mcnonp3oBanue pPeCypCOB HHTCPHETA

N
o

. AHanu3 nu3aiHa caiita
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Tectuposanue 110 1 HHPOPMALMOHHBIX CHCTEM
. YIpaBiieHHe KayeCTBOM MPOrPaMMHOI0 00ecredeHus

N
w

. bynyiiee KOMIBIOTEPHBIX TEXHOJIOTHN
[Mlpu wm3ywenun guciurummael OI'CD.04  HMHOCTpaHHBI S3BIK B NMPO(ECCHOHAIBHON
JESATeIbHOCTH PEKOMEHYETCs CIEYIolIasl OCIeI0BATEeNbHOCTh O0YUEeHHs: BHaYaIe 00y4arolumMcs



HEOO0XO/MMO O3HAaKOMHTBCS W MpOpadoTaTh y4eOHBIH MaTepuall Mo y4eOHUKAM M JIEKLHUSAM, 3aTeM
clieyeT 0OpaTUThCS K JIOTIOJIHUTENIbHON JIUTEPaType.

4. TEJHA BHEAYJIUTOPHON CAMOCTOSTEJBbHOM PABOThHI
OBYYAIOIIUXCA

B pe3yabTare 0CBOCHUS TUCHHUILIMHBI 00yYAIONIHICA 10JI2KEH YMeTh:

— o0maThes (YCTHO M MUCbMEHHO) Ha HHOCTPAHHOM $I3bIKE Ha Ipo¢ecCHOHaIbHbIE U
MOBCE/IHEBHBIC TEMBI;

— TEepeBOJUTH (CO CIIOBapeM) HHOCTPAHHBIE TEKCTHI IPO(ECCUOHATBLHOM HAIPABICHHOCTH;

— CaMOCTOSITEIBHO COBEPIICHCTBOBATH YCTHYIO M MUCHMEHHYIO PEUb, IMOMOJHIThH CIIOBAPHBII
3arac;

— HCYHCIATH PYOJIEBBII SKBUBAJICHT BRIPAKEHHOW B MHOCTPAHHOW BaJIOTE CTOMMOCTH aKTUBOB U
00513aTEIIbCTB;

—  OCYIIECTBJISITH TpaHCPOPMALIUIO OYXTanTepcKoi ((pMHAHCOBOM) OTYETHOCTH, COCTABICHHOM 1O
POCCHICKHMM CTaHAapTaM OyXraJTepCcKOro y4era, B ((MHAHCOBYIO OTUYETHOCTD 110 MPU3HAHHBIM
MEXTYHAPOHBIM CTaHIapTaM;

B pe3ynbpTaTe 0CBOCHHS AUCIUIUIMHBI 00YYAOIIUICS JOJIKEH 3HATh:

— nekcuueckuid (1200 - 1400 nexcudeckuxX eUHUI]) U TPaMMATHUYECKU MUHUMYM,
HEOOXOIUMBI JUISI YTCHHSI U TIepeBoIa (CO CIIOBapEeM) HHOCTPAHHBIX TEKCTOB
npodeccnoHaATLHOM HAIIPABJICHHOCTH;

— MEXIyHapOJHbIe CTaHAAPTHI ((PUHAHCOBOM OTUETHOCTHU U MPAKTUKY NPUMEHEHHUS yKa3aHHBIX
CTaHJapTOB;

— TepeoBON OTEYECTBEHHBIN U 3apyOeKHBIHM OMBIT B chepe OpraHu3alud U OCYIIECTBICHUS
BHYTPEHHET0 KOHTPOJIS BeJIeHUSI OyXTaJITepCKOT0 Y4eTa U COCTaBJICHHS OyXranTepcKoi
(pmHAHCOBOI) OTYETHOCTH;

5. BUJIBI CAMOCTOSATEJBbHOM PABOTBI

— [ToaroroBka pedepaToB (1I0KIa 0B, COOOIIEHUH, 3cCe)
— CocraBnieHue cxeM

— Pemienne npakTM4eCKUX 3a0aHUN

— CocraBneHue U pelieHne TeCTOBbIX 3aaHUi

— IToaAroToBKa OTBETOB HA KOHTPOJIBHBIE BOIPOCHI

— Cucremarnueckas mpopaboTka KOHCIIEKTOB 3aHITHH, yUeOHON U CIeIMaTbHON IOPUIUIECKON
auTeparypsl (1o BompocaM K maparpadam, riaBaM yaeOHBIX TOCOOH, COCTaBIEHHBIM

IpernoaaBaTesieM).



6. PABOTA C TEKCTOM HIIA C UCIIOJIb30BAHUEM CIIPABOYHO-
ITPABOBBIX CUCTEM, IIPEJOCTABJIEHHBIX CETBIO INTERNET

Bo Bpems caMOCTOSTENBHOM AEATENBHOCTH, B MPOLECCE JEKIIMOHHBIX U CEMUHAPCKUX 3aHATUI
y oOyvarommxcsi (QOPMHUPYIOTCS  HaBBIKM  pPabOTBl €  HOPMATHUBHO-TIPABOBBIMHU  aKTaMH,
PEryIUpPYIOIMMHU PALMOHAIBHOE HCIIOJIB30BAHUE IPUPOJHBIX PECYpCOB U 3AIUUTY OKPYKAIOLICH
IIPUPOJHOM CpEbI.

[Ipexne 4eM NPUCTYNHUTh K aHAIM3y IMEPBOMCTOYHHMKA, HEOOXOAMMO NPOYUTATHIOKYMEHT,
MOJIYYUTh MPEJCTaBICHUE O €ro CTPYKType. ODTO MEpBbI acleKT paboThl CTEKCTOM IPAaBOBOTO
JOoKyMeHTa. BrTopoii acmekt mnpeacTaBiseT coOOW 3amUCh OCHOBHBIX TOJOXKEHUH U uaei
MIEPBOMCTOYHHKA.

OO6yuvaronuecs B xojie pabOThl C MPABOBBIM AKTOM BOCIPOU3BOMAAT OTAENbHBIC MOJOKEHUS
TEKCTAa, OCYIIECTBIISIIOT €r0 aHaJIU3.

Ocob60oe BHUMaHUE ClieyeT OOpaTUTh HAa BCTPEUAIOIIMECS B MEPBOUCTOYHUKE IKOJIOTHUECKUE
TepMUHBL. be3 yCBOGHHS OCHOBHBIX TEPMHUHOB HEBO3MOXHO 3(P(EKTHBHOE H3yueHHE IPABOBOTO
HCTOYHMKA, €r0 IOHUMaHUE.

Ilocne O3HAaKOMIIEHHs € TEKCTOM M TEPMHMHAMH CIEAYeT IPUCTYNHTh K BBITOJIHEHUIO
MOCTaBJICHHOTO 3ajaHus. Ha manHOM »dTame oOydaromipecs CaMOCTOSTENFHO HIIYT OTBETHI Ha
IIOCTABJICHHBIE II€PE] HHMMM BOIPOCHL. JTa JACATEIBHOCTb IIOMOTaeT pPAa3BUTHIO YMEHHS
CTPYKTYpUPOBaTh MH(OPMAIIHIO, BBIIEISITh OCHOBHBIE MOMEHTHI.

B pesynmpraTe cucremMarudeckoil pabOThl € TEKCTOM HOPMATHBHO-TIPABOBOTO aKTa Y
00yyJaroIerocsi pa3BMBaeTCsi yMEHHE CaMOCTOSITEIbHO BECTH MOMCK MPaBOBOM 0a3bl, YACHATH CMBICI
[IPaBOBBIX TEPMHUHOB, UCIIOJIb30BaTh UX B MIPAKTHUECKOI padoTe.

Jiist Toro uToOBl 0OydaromMiics uMen MOCTOSHHBIA JocTyn K HITA oH MOXET HCIob30BaTh
ceTsb Internet.

OmauM u3 3P (EKTUBHBIX TYyTEH COBEPIICHCTBOBAHUS CAMOCTOSTEIBLHON pabOTHI SIBISETCS
UCMOJIb30BaHuE 00yydaronmMces HTepHeT-pecypcoB, OCHOBHBIMHU JOCTOMHCTBAMH KOTOPBIX SBIISIOTCS:

— peayu3aluy NpUHLIKIA UHAUBUYalbHOMN paboThI;

— Hanuuue ObICTpoi OOpaTHOW CBS3W; OOJBIIME BO3MOYKHOCTH HAIJISTHOTO MPEIbSIBICHHS
MaTepHala; akTUBHOCTb 00yYaroIINUXCsl; KPeaTUBHOCTb.

Kpome Ttoro, omgnum u3 noctouHcTB MHTepHeTa sBIsSeTCS NpeaocTaBlieHHE OecIIaTHOro
JOCTYIIA K CIIPAaBOYHO-TIPABOBBIM CHCTEMAM.

Ha ceropnsmnuii nenp B Poccum u CHI' cymiecTByeT MHOXKECTBO CIPaBOYHO-IIPABOBBIX
CUCTEM, OCHOBHBIE CPE/IN HUX:

— I'apanT, Koncyneranrllmoc, Kogekc; Pedepent I'ocynapcTBeHHbIE CHCTEMBI;

— HWHudpopmanoHHO-TIOUCKOBass ~ cucTeMa  «3aKOH» (UIIC  «3akon»), HayuHo-
TeXHUYeCKUHLeHTp npaBoBoii nHdopmarmu «Cucremay (HTL[ «Cucremay);

— @enepanbHOe OIODKETHOE TOCYJapCTBEHHOE yupexjeHue «HaydHblii 1eHTp mpaBoBOi
uHpopmanuu npu MunuctepcTse roctuiuu Poccutickoit @enepamumy,

—(http://wwwe.scli.ru/bd)., MadopmarmonHo-nipaBoBast cucreMa «3aKOHOIATEIbCTBO Poccum»
(http: //pravo. gov. ru/ip s. html).

Bce 310 mo3Bomsier obyvaronemycsinaiiTid HeoOxonumbiii HITA B peiicTByromiei penakiuu, ¢
aKTyaJbHBIMU U3MEHEHHUSIMHU B 3aKOHOJIaTEIbCTBE.
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O0mue MeToAMYECKHE PEKOMEHIALUHM 110 padoTe ¢ TEKCTOM

Ymenus pabomams c 3a20106K0Mm yuedonozo mekcma, unghpopmayueii:
(bopMyIHpOBaTH BOIPOCHI K 3ar0JIOBKY;

BBIJICJISITh KAKUMU 3HAHUSIMH, YMEHUSMHU 110 JAHHOM TeMe YXKe BJIa/ICeTe;
YCTaHOBUTH, TOYEMY UMEHHO 3TH CJIOBAa BHIHECEHBI B 3ar0JIOBOK;
MPEIBOCXUILATH, YTO U3 PaHEee HEU3BECTHOT'O MOXKET OTKPHITHCS;
0CO3HATh, YTO HEU3BECTHO IO ATOU TEME;

nepe@opMyIMpoBaTh 3aroj0BOK B popMy Bompoca.

Ymenusa, neooxooumwie 0na cmpykmypuposanusa ungpopmayuu:
JeNUTh HHGOPMAIUIO HA OTHOCUTEIFHO CAMOCTOSITENIbHBIE CMBICIIOBBIE YACTH;

BBIJICJIATh B CMBICIOBOM YacTH TJIaBHOE (C TOYKH 3pEHHs IMMOCTABICHHOW y4yeOHOW 3amaum) u
BCIIOMOTaTeJIbHOE, HOBOE U YK€ 3HAKOMOE;

BBIIEJISITh B CMBICIIOBOM YaCTH, O 4YeM FOBOPUTCS (0OBEKT) U YTO O HEM FOBOPUTCS;

OLIEHUBATh MH(POPMATUBHYIO 3HAYMMOCTH BBIICJICHHBIX MBICICH - COOTHOCHUTHh MX C TEMHU WU
WHBIMH KaTETOPUSIMH  COACPIKATEIIbHOW CTPYKTYyphl HH(popMarmu ((hakramu, SBICHUSIMH,
MOHATUSIMH, 3aKOHAMHU, TEOPUSIMHU);

OIIPEJIeNIATh JIOTHYECKHUE U COJIepKaTeIbHbIE CBSI3U U OTHOLLIEHHS MEX/ly MBICISIMU HH(pOpMAIIUH;
BBIJICNIATh «CMBICJIIOBbIE M OIOPHBIE ITYHKTBI», 3JEMEHThl HH()OPMAlLMHM, HECYIIUE OCHOBHYIO
CMBICIIOBYIO Harpy3Ky (T€pMHHBI, HOHATHUS, (HOPMYJIbI, PUCYHKHU U JIp.)

IPYNIIUPOBATH 110 CMBICITY BBIJCIICHHBIE PH aHAIN3€ WH(POPMAIIMK MBICIIH, OOBEINHSS UX B Oojee
KpYITHBIC YacTH;

(bopMyIHpOBATH TIABHBIE MBICITH 3TUX YacTel, Bcel nHpopmarmm;

00001IaTh TO, YTO B TEKCTE TAHO KOHKPETHO;

KOHKPETU3UPOBATh TO, YTO JJaHO 000O0IIEHO;

JI0Ka3bIBaTh, apT'yMEHTHPOBATH TO, YTO HE JI0Ka3aHO, HO TpeOyeT 10Ka3aTeNIbCTBa;

BBIJICNIATH TPYIHOE, HETIOHATHOE;

(bopMynHMpoBaThH BOIPOC MO y4eOHOH HHPOPMALIUY;

BBIJICJIATH IPOTHBOPEUHSI C paHEe N3BECTHBIM, C COOCTBEHHBIM OIIBITOM;

COOTHOCHTB PE3YJIbTaThl H3yUCHHUS C TIOCTABICHHBIMH LIEJISIMU, BOITPOCAMH;

CHHTE3MPOBATh HH()OPMAITHIO, TOTYYCHHYIO M3 PA3HBIX HCTOUHHKOB.

Ymenua nucomennon puxcayuu pezynomamoe pabomot c yuedonou ungopmayueii:
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COCTaBJIATH IUIaH (IPOCTOM WIIN CIIOXKHBIN), OTpaxaTb MHPOPMAIIHIO TpapUuecKH;
OTpakaTh coJiepKaHre HHPOPMALIUU TE3HCHO;
COCTaBJIATh KOHCIIEKT (CHeIAIIMNA, CTPYKTYPHBIN U JIp.)

Ko.wuynuxamueuble Yymenusn:
YCTHO XapaKTCPU30BaTh CUCTCMY BOIIPOCOB, OCBCIICHHLIX B yqe6H0171 I/IH(I)OpMaI_[I/II/I;

TE3UCHO U3J1araTh CoJepX)aHue HHPOPMaLUY;
pa3BEpHYTO MU3JIATaTh COEPIKaHUE.

Ymenua konmponuposams ceoro pabomy c yueonou ungpopmavueii:
BOCITPOM3BOIUTH U3YYCHHOE;

COCTABJISTh T€3aypPyC NOHATUI TEMBI,
oI0upaTh, KOHCTPYHPOBATH 33/1aHUS HAa IPUMEHEHUE U3y4YEHHOTO0;



v IpUBOAUTH COOCTBEHHBIE TPUMEPHI;
v/ yCTaHABIMBATH CBSI3M M3YYEHHOTO C PAHEE M3BECTHBIM.

O0mme MeToANYeCKHEe PeKOMEHIAMH I 0(popMiIeHHsI M HANTMCAHMSA pedepaTa

«Pedepar» nmeeT naTUHCKKE KOPHU U B JIOCIIOBHOM IIEPEBOIC 03HAUAET
«IOKJIa/pIBat0, coobaro». CloBapu ONpenesioT €ro 3HaueHHe KaK «KpaTKoe H3JI0XKEHHE B
NUCHbMEHHOM BHJIE WM B (opMe NyOJIMYHOTO AOKJIaNa COJACpPKAHWUS KHUTH, YYCHHS, HAaydYHOU
Ipo0JIeMBbl, PE3YyIbTaTOB HAYYHOI'O MCCIIEOBAHUS: OKJIAJ Ha ONPE/IEICHHYI0 TEMY, OCBELIAIOIINN ee
Ha OCHOBE 0030pa JTUTEepaTypbl U APYTUX UCTOYHUKOB.

1. Crynenueckuil pedepar — 3T0 TBopueckas paboTa CTYAEHTa, B KOTOPOM Ha OCHOBaHWHU
KpPaTKOT'0 NMHCbMEHHOT'O M3JI0KEHUS U OLIEHKH Pa3JINYHBIX HCTOYHUKOB IPOBOJUTCS CAMOCTOSITENIbHOE
UCCIIEIOBAaHKE ONPENIETIEHHON TEeMBbI, TPOOJIEMBI.

2. Pedepat oTIm4aroT cieAyromume Ipru3HaKku:

a) pedepar He KONUPYET JOCIOBHO COJEpXKaHHME INEPBOMCTOYHHUKA, a MPEACTaBIsIeT COOOM
HOBBII BTOPHYHBIA TEKCT, CO3AaBaEMbIi B pe3yJabTaTe CHUCTEMAaTH3allMM M OO0OOIIEHHS MaTepua
IIEPBOMCTOYHUKA, €ro AHAJIUTHUKO-CUHTETHYECKOM mepepalboTKu  («aHAIUTUKO-CHUHTETHYECKast
nepepaboTKa MEPBUYHOIO TOKYMEHTA C LeNbto co3nanus BTopuunoroy») (COCT P UCO 10011-2-93)

0) Oyayuun BTOpPUYHBIM TEKCTOM, pedepaT co3maercs CO BCEeMH TpeOOBaHUSIMH,
MPENbABISEMbIMA K CBA3HOMY BBICKA3bIBAaHUIO, TO €CTb €MY JOJDKHBI OBbITh IPUCYILU CIEAYIOLIUE
YepThL: LETOCTHOCTD, CBA3HOCTD, CTPYKTYpHAasl YIOPSIOYEHHOCTb U 3aBEPIICHHOCTD.

B) B pedepar JODKHO OBITh BKIIOYEHO CAMOCTOSITEIbHOE  MHUHHU-UCCIIEOBAHUE,
OCYILIECTBISIEMOE Ha MaTepuane WM XYHA0XKECTBEHHBIX TEKCTOB, WJIM MCTOYHHKOB IO TEOPUU U
UCTOPUU JINTEPATYPHI.

3. Crynenueckuii pedepar JOIKEH UMETh CIEAYIOIIYIO CTPYKTYPY:

TUTYJbHBIN JHCT

1aH paboTsl (coaepKaHue)
BBEJICHUE

<\

OCHOBHasl 4acCTh
3aKJIIOUYEHUE
CIIMCOK JIUTEPATYPBI
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MpHIIOKEHHE (110 HE0OXOAMMOCTH )

Bo BBemeHwm, Kak TpaBWIO, MJAETCS KpaTKas XapaKTEPUCTHKA HW3Y4aeMOH TEMBI,
00OCHOBBIBACTCS €€ aKTYyaJIbHOCTh, PACKPBIBAIOTCS IIEJb M 33Jaud padOThI, TPOU3BOJUTCS KPATKHA
0030p NUTEPATYpHl U BaXKHEUIITNX NCTOUHUKOB, HA OCHOBAaHUH KOTOPBIX FOTOBMJICS pedepart.

B ocHOBHOIf yacTH KpaTKO, HO MOJTHO M3JIAraeTcsk MaTepUal 1Mo pasJiesiaM, KaKIbIi U3 KOTOPBIX
pacKpbIBaeT CBOIO IMPOOJIEMY MM Pa3HbIe CTOPOHBI OAHON mpobiembl. Kaxaplii cMbICIOBOI 050K
(rnaBa, maparpad) 1oJKeH ObITh O3aryiaBiieH.

3aKIIt0YeHNe JTOJHKHO ObITh YETKUM, KPATKUM, BBITEKAIOIIUM M3 COJEpKaHUsS OCHOBHOM 4acTH.
B Hem OIKHBI COZepKaThCSl BRIBOABI TI0 Pe3ysbTaTaM paboThl, a Takke HH(OOPMAIIHS O COTJIACHH WJIH
HECOIJIaCMM C aBTOpaMM LUTHPYEMBIX paloT, JaHbl yKa3aHUs HA TO, KOMY MOTYT ObITb MHTEPECHBI
KHUTH, TEKCTBI, PacCMOTpPeHHbIe B pedepare. 3akiroueHHE HE JOJDKHO NPEBBIATh MO 00BEMY
BBEJICHUS.

4. O6veM pedepara KECTKO HE pPErIaMEHTHUPYETCS, OJTHAKO OH HE JIOJDKEH TpeBbimarh 20
MAIIMHOMUCHBIX CTPAHUII.

5. TpeboBanwus Kk 0OPMIICHHUIO:

Pedepar nomken ObITh Hamucan Ha Oymare cTaHnapTHON GopMmel (JucT 4A, ¢ monsiMu ciesa 2,5
— 3 cM, cBepXY U CHHM3Y — 2 CM, clipaBa — 710 | cM) U BJIOKEH B MaIKy.

Hymepanus crpanuil 1oykHa ObITh CKBO3HOM, BKIIIOYAS CIIMCOK HUCHOJIB3YyEMOM JIUTEpaTyphl U
npuioxenus. HymepyroT cTpaHuipl apaOCKuMu IUppaMyd B TPABOM HIDKHEM YTy WU CBEPXY
nocpenuHe yucta. [lepBoil cTpaHMilel SBIsETCS TUTYJIBHBIA JUCT, HA HEM HOMEp CTpPaHHIBI He
CTaBHTCSI.



Cxema odopmiieHUs TUTYJIbHOTO JHCTa (TpwioxeHue 1), comepkanus (MpUIoKeHUE 2)
CTYIIEHYECKOT0 pedepara mpuiaraercs.

Crimcok JnMTepaTypsl 3aBepmiaeT paboTy. B HeM QHKCHpYIOTCS HCTOYHUKH, C KOTOPBIMHU
pabotan aBTop pedepara. Ciricok cocTapisieTcss B aihaBUTHOM MOPSIIKE MO (PaMIIIASIM aBTOPOB HITH
3aryiaBusi KHUT. [Ipy HanM4YMM HECKOJIBKMX Pa0OT OJHOTO aBTOpa MX Ha3BaHHs PACIIONAraroTCs IO
rogam u3ganuid. bubauorpaduueckue nanueie opopmisitores B coorBercTBuu ¢ 'OCTom.

OO01ue MeToAMYeCKUe peKOMeH 1AM 1J1s1 0opMIIeHUsI COOOLeHH, T0KIA1a
O0BeM coobIIeHHs OOBIYHO cOCTaBIsAeT 2-3 cTpaHuibl popmaTa A-4

CooOuienue, gokiaag 0ohOpMIISIOT CTaHIAPTHO:
[[TaGmoHHBIN MAIIMHOMUCHBIN TEKCT UMEET CJICIYIONINE TapaMeTPHhI:

v wpudr Times New Roman;
pasmepipudTa 14,
MEKCTPOYHBIN UHTEpBa 1,5;
CTaHAapTHBIE MO s penakropa Word;

v/ BBIpaBHHMBaHHE I10 [IUPUHE.
CchUIKM Ha UCTOYHUKHU YKa3bIBAIOTCS MO TPEOOBAHHIO MpEroaBaTess.
B wupneane, cooOmienue, MOKIaJ emle AODKHBI CONEPKaTh MPHIIOKEHUS — TAOJHIBI, CXEMBbI, KOITHH
JOKYMEHTOB — OJTHAKO, YaIle 3TO HE MPAKTHUKYETCS.

AR

O0mme MeToaM4YeCKHe PEKOMEHIAIMHU 11 0()OpMIIeHHS TIPe3eHTAIlUH.
TpeGoBanus K mpe3eHTAIUN

Ha nepBom cnaine pazmeraercs:

v Ha3BaHHE IPE3CHTAINY;

v aprop: ®UO, rpynna, Ha3BaHWe y4eOHOrO yUpeKAEHHs (COABTOPHI YKa3bIBAIOTCSA B

andaBUTHOM TOPSIKE);

v’ ro.

Ha BTOpoM cnaiine yka3biBaeTcs cojaep)kaHue palOoThl, KOTOpoe Jjydile oGopMHTH B BUIE
TUNIEPCCHUIOK (/I MHTEPAKTUBHOCTH MPE3CHTALIHH ).

Ha nocnennem cnaiine ykas3blBaeTCsi CIIMCOK HCIIOJIB3YEMOW JIMTEpPATypbl B COOTBETCTBUM C
TpeOOBaHUSMHU, HHTEPHET-PECYPCHI YKa3bIBAIOTCS B MOCIIEIHIOI OYePEb.

Odopmienue ciaaiiios

» Heo0X0IuMO cOOII0aTh €AUHBIA CTHIIb 0)OPMIICHHUS,;

» HYKHO U30eraTh CTUJIEH, KOTOpble OyIyT OTBJIEKATh OT CaMOn
MIpe3eHTAalNH;

Cruab

» BcroMmoraresbHas nHpopMmanus (yIpasisiolue KHOIKN) He

JIOJKHBI Tpeo0iaiaTh HaJl OCHOBHON MH(OpMaLueil (TeKcr,
PUCYHKH)

» s hoHa BeIOUparoTCs 60siee X0JIOAHbIE TOHA (CHHUIN WA

Don .
3eJIeHBIN)

» Ha OJHOM CJIaifJie PeKOMEHIyeTCsl UCTIOIL30BaTh He OoJiee Tpex
[BETOB: OJIMH IS (OHA, OJIMH IS 3aTOJIOBKOB, OJIMH JIJIS
HUcnoas3oBanue TCKCTA;
nBeTa » g (hOHA M TeKCTa UCTIONB3YIOTCS KOHTPACTHBIC I[BETA;
» 0co00e BHUMaHUe clieflyeT OOpaTUTh Ha IBET TUTIEPCCHIIOK (10
Y TIOCTIE MCTIOTH30BAHMS)

» HY)KHO HCIIOJIb30BaTh BO3MOXXHOCTH KOMIIBIOTEPHON aHUMAIHH
AHUMAIMOHHBIEC JUTS TIpeJICTaBlIieHuss UHPOpPMAIIUK Ha Caije;
appexThI » HE CTOUT 3JIOYMOTPEOISATh pa3TMIHBIMUA AHUMAIMOHHBIMH




s pexTamu; aHUMalMOHHbIE (P PEKTH HE JOIDKHBI OTBICKATh
BHUMaHHE OT COJIepKaHus HHPOPMaIUK Ha craiiie

IIpeacrasienne nHpopMaL U

Conep:xkanue
uHopmanuu

»  CICAYCT UCIIOJB30BAaTh KOPOTKHE CJIOBA U IPCIATIOKCHUA,

» BpEMA IJIarojioB JOJIXKHO OBITH BE341€ OJUHAKOBBIM,

» CICOYCT UCIIOJIB30BaTh MUHUMYM NIPCIAIOTOB, Hapetmﬁ,
IpuiIaraTC€ibHbIX;

» 3aroJIOBKH JOJIKHBI IIPUBJICKATh BHUMAaHHE ayTUTOPHN

» TPEIIOYTUTEIBHO FOPU30HTAILHOE PACIIONOKCHUE
nH(pOpMaIHH;

» Haubosee BaKHAs HHPOPMAIHS JIOJDKHA PACIIONIaraThes B
IIEHTPE IKPaHa;

» €CIIM Ha Cllaiijie pacnojaraeTcs KapTHHKA, HAJIUCh JJOJDKHA
pacrioyiarathbCs 1moJ Hel.

HIpudrsI

»
»
»
»
»

»

JUIs1 3ar0JIOBKOB HE MeHee 24;

JUTsL OCTaJIbHOM MH(pOpMaLiK He MeHee 18;

mpudThl 0€3 3aceUeK JIerde YUTaTh ¢ OOJBIIIOTO PACCTOSHHUS;

HEJIb3sl CMEIINBATh Pa3HbIC TUITHI IIPUQPTOB B OJTHOM MPE3EHTAIUH;
TSl BBIICTICHUS MH(POPMAIIUU CIEAYET UCIIOIB30BaTh KUPHBIA HIPUPT,
KYPCHUB WJIM NIOIYEPKUBAHHUE TOTO K€ TUIA;

HEJb3$ 37I0yNOTPEOIATh MPONMUCHBIMU OyKBaMU (OHU YUTAIOTCS XYyKe,
YeM CTPOYHBIC).

Cnocoobl
BbIJICJICHUS
uHopmanuu

CJ'ICI[yeT HUCIIOJIB30BATh:

»
»
»

pPaMKH, TPaHHIIBL, 3AJTUBKY
pa3HbIe I[BeTa MPUPTOB, IITPUXOBKY, CTPEIKU

PHUCYHKH, THAarpaMMBbl, CXEMBI JUIS WILUTIOCTPAMH HanOoJiee BayKHBIX
¢dakToB

Oobem
uHpopmanuu

»

»

HE CTOUT 3aIlOJIHATH OJJNH cnaﬁz[ CIIMIIKOM OOJIBLIINM 00BEMOM
MH(pOpMaLIKU: JTIOAU MOTYT €JUHOBPEMEHHO 3allOMHUTH He 0oJiee Tpex
(bakToB, BBIBOJOB, ONpEAEIECHUI.

HanOosbIIas 3PPEKTUBHOCTD JOCTUTAETCS TOT/IA, KOT/a KIFOUEBbIe
IIYHKTBI OTPA)KAIOTCS 110 OJJHOMY Ha KaKJJOM OTZEJIbHOM ciaiize.

Bunnl ciaaiinos

st oGecrieueHust pa3HOOOpa3us CIeIyeT UCTIOIB30BaTh Pa3HbIC BUIBI
CIaliJIOB: C TEKCTOM, C TabIUIaMH, C JrarpaMMaMH.

Kpurepun onenku no Buaam pador

1. Kputepuu olieHKH MOATOTOBKHU HH()OPMALIMOHHOTO COOOIIEHUS

® AKTYAJIbHOCTH TCMBbI;

® COOTBETCTBHUC COACPIKAHUA TCEME,

e ryOWHA MPOpabOTKU MaTepHuaa,

¢ TI'PaMOTHOCTH U IIOJIHOTA UCIIOJIb30BAHHA HCTOYHHUKOB,

® HaJIM4uC 3JICMCHTOB HArJIAIAHOCTH.

2. Kputepuu oneHk# MoAroToBku pedepara

¢ AKTYAJIbHOCTH TCMBbI;

® COOTBCTCTBUC COACPKAHUA TCME,




e ryOWHA MPOpPabOTKU MaTepHuana,
® TPaMOTHOCTH U TIOJHOTA MCIOIH30BAHUS ICTOYHHUKOB;

e cooTBeTcTBHE OhopMIICHUS pedepaTra TPEOOBAHHUSM.

3. Kpurepuu o1ieHKH COCTaBICHUSI OTIOPHOTO KOHCIIEKTa
® COOTBETCTBHE COJICP)KAHUS TEME;

® MpaBWJIbHAs CTPYKTYPHPOBAHHOCTb MH(POPMALINY;

® HaJMYHUe JIOTHUECKOW CBS3U U3JI0KEHHOW HH(POPMAIINH;
® COOTBeTCTBHE O(hOPMIICHHUS TPEOOBAHUM;

® AKKypaTHOCTb U TPAMOTHOCTb M3JI0KEHUS,

e paboTa ciaHa B CPOK.

4. Kputepun OLIEHKU COCTaBJIEHUS OLIOPHO-JIOTUYECKON CXEMBI I10 TEME
® COOTBETCTBHE COLCPIKAHUS TEME;

® JIOTMYHOCTb CTPYKTYpPBhI TaOIHIIbI;

e [paBWIbHBIN 0TOOP HHPOPMALINH;

e HaiMuue 0000MIArOIIEro (CUCTEMATU3UPYIOIIETO, CTPYKTYPUPYIOIIETO, CPABHUTEIIHHOTO)
XapakTepa H3JI0KeHUs] HH)OpMAIIHH;

® COOTBETCTBUE 0GOpMIIEHUS TPeOOBAHUAM;

e pabora cllaHa B CPOK.

5. Kputepuu onieHKH co3aHUs MaTepHAIOB-TIPE3eHTALIUN
® COOTBETCTBUE COJIEP’KAHUS TEME;

® TpaBUIbHAS CTPYKTYPUPOBAHHOCTH HH(DOPMAIIHH;

® HAJIWYHE JIOTUYCCKOHN CBSI3U M3JI0OKEHHON MH(pOpMaIumy;

® OSCTETHUYHOCTH O(hOPMIICHHS, €TO0 COOTBETCTBUE TPEOOBAHUSIM;
e pabora mpescTaBieHa B CPOK.

Kpurepun oneHkn caMoCTOSTeIbHOI BHEAYAUTOPHOI PadoThI CTYICHTOB

KayecTBO BBINONHEHUS BHEAYIUTOPHOM CaMOCTOSITEIbHOM pabOTHI CTYIEHTOB OLICHMBAETCS
MOCPEACTBOM TEKYIIETO KOHTPOJIS CAMOCTOSITEIbHOM pabOThI CTYJAEHTOB C MCIOIb30BaHUEM OaIbHO-
peiitunroBoii cucremsl. Tekymuit koHTpoiab CPC — 310 Qopma m1aHOMEpHOro KOHTPOJISI KauecTBa U
O6T)€Ma, HpI/IO6peTaeMBIX CTYACHTOM KOMH@TCHHI/Iﬁ B IIPOHCCCC U3YUYCHHA TUCUHUILIIMHBI, ITPOBOANUTCA
Ha MPaKTHYECKUX U CEMUHAPCKUX 3aHATUSAX U BO BPeMsl KOHCYJIbTAIMH MTperoiaBaTes.

100~89% MakcumanbHOE KOJIMYECTBO OajlioB, yKa3aHHOE B Kapre-Mapuipyre (Tadm. 1)
CaMOCTOSITENIbHON pabOThI CTYACHTA 110 KaKJOMY BUY 3aJlaHUs, CTYI€HT M0JIy4aeT, eCIu:

* 0OCTOSITEIBHO C IOCTATOYHOM MOJTHOTOM M3JIaraeT COOTBETCTBYIOMIYIO TEMY;

* JaeT IpaBUiIbHbIE (POPMYITUPOBKH, TOUHBIE ONPEIEICHUS, TOHITUS TEPMUHOB;

* MOXeT 000CHOBATh CBOM OTBET, IPUBECTU HEOOXOUMBbIE TPUMEPHI;

*[IPaBHJILHO OTBEYAET Ha JOIMOJIHUTEIbHBIE BONPOCHI IMpPENojaBaTelsi, UMEIOIINE 1EIbI0 BBIICHUTH
CTCIICHb TIOHUMAaHUA CTYACHTOM JaHHOT'O MaTCpHrala.

70~89% OT MaKCUMaJIbHOTO KOJIMYECTBA OAJIJIOB CTYIEHT MOJYYaeT, eCIu:
*HenoJiHO (He MeHee 70% OT MOJHOT0), HO MPaBUIILHO U3JI0KEHO 33JJaHUE;
*TIpU W3JI0KEHUU OBUTH JOMYIIEHBI 1-2 HECyIecTBEHHBbIE ONMIMOKH, KOTOPHIE OH HCIPABISET TOCIE
3aMEeYaHMsl MPEenoJaBaTes;
*J1aeT MpaBUIIbHBIE ()OPMYITHPOBKH, TOUHBIE ONPECIICHHUS, TOHATHSI TEPMUHOB;



*MOXET 000CHOBATh CBOM OTBET, IPUBECTU HEOOXOJUMBIE TPUMEPHI;
*[IPaBWJIBHO OTBEYAET HA JOIMOJIHUTENIbHBIE BOMPOCHI IMpENofaBaTeis, UMEIONIUE LIEJIbI0 BBISICHUTH
CTETEeHb MOHUMAaHUsI CTYIEHTOM JJaHHOTO MaTepHarna.

50~69% oT MakCUMaJIbHOTO KOJTUYECTBA OAJIJIOB CTYIEHT MOJTYYaeT, eCiu:
*HernosiHO (HE MeHee 50% OT MOJHOT0), HO MPABMWIIHLHO HU3JIOKEHO 3aaHHE;
*IIpy U3JI0KEHUH OblIa AomyieHa 1 cymecTBeHHas ouInoka;
*3HACT ¥ TIOHUMAET OCHOBHBIC TOJIOKEHUS JAHHON TEMBI, HO JOMYCKAeT HETOYHOCTH B (DOPMYITHPOBKE
MMOHSATHH;
*M3J1araeT BBIIOJIHEHUE 3aJaHHsI HEJOCTaTOUHO JIOTUYHO U MOCJIEI0BATENbHO;
*3aTPYIHACTCS MPU OTBETAX HA BOMPOCHI MPENoaaBaTelIs.

49% 1 MeHee 0T MaKCUMaJIbHOI'O KOJIMYECTBA 0aJlJIOB CTYAEHT I1OJIy4aeT, €CIIu:
stenoHo (Menee 50% OT MOJHOT0) U3JI0KEHO 3aJ]aHHE;
*IIPH U3JI0’KEHUH OBUTH JOMYIIEHBI CYIECTBEHHBIE OUTHOKH.

B "0" GanioB mpernoaBaTelb BIIPaBe OIICHUTH BHIIOJHEHHOE CTYIEHTOM 3aJaHue, €CJIH OHO He
YIOBJIETBOPSIET TPEOOBAHUAM, YCTAHOBJICHHBIM IIPENOAaBATENIEM K JaHHOMY BUY PaOOTHI.

CyMMa monydeHHBIX 0ajuloB MO BCEM BHJAM 3aJaHUN BHEAYTUTOPHON CaMOCTOSTEIBHOU
paloThI COCTaBIsET PEUTHHIOBBIN MOKa3aTeNlb CTYACHTa. PEHTHHIOBBINA MOKa3aTenb CTYIAEHTA BIUSIET
Ha BBICTABJICHUE UTOTOBOM OLIEHKU IO pe3yJbTaTaM U3yYeHUs IUCLUIIIMHBIL.

Talmua nepeBoa 6a/10B B OLIEHKY

Gamt 100~89% 70~89% 50~69% 49% u meHee
OIICHKA 5 (om.) 4 (xop.) 3 (ynoB.) 2 (HeynoB.)




7. CIMCOK UTH®OPMAIIMOHHBIX HCTOYHUKOB YYEBHASA JTUCIUIIJIMHA

[lepeueHpr pekoOMEHAYEMBbIX Yy4eOHBIX W3AaHuM, VIHTEpHET-pecypcoB, IOMOJHUTEIHHON
JTUTEPATYPBI

OcHoBHas iMTeparypa:

1. AHTIIUHACKUIA A3BIK [Tl TEXHUYECKHX creruanbHocTei: yueoHoe nocodbue / C.C. JIutBunckas
— MockBa: THOPA-M, 2022. — 252 c. — (Cpeanee npodeccuonanpbHoe odpazoBanue). — ISBN 978-5-
16-014535-8. — URL.: https://znanium.com/catalog/product/1694420.

2. Anrmmiickuii  s3bik.  General English: yueOHMK mms cpemnero mpodeccHOHaIbLHOTO
obpazosanus / B. B. Jlepuenko, E. E. Jlomranésa, O. B. MemepsikoBa. — MockBa: M3naTenbcTBo
Opaiit, 2020. — 127 c. — (Ilpodeccuonansuoe obpazosanue). — ISBN 978-5-534-11880-3. — URL:
https://urait.ru/bcode/451034.

3. AHMIMICKUH SI3BIK I KOJUICDKEH: yueOHOe MocoOue i CpeaHero mpodeccrnoHalbHOTO
obpazoBanms / A. C. U3Bonenckas, E. O. Koxapckas; mox penakmueit JI. B. [TomyOouuenko. — Mocksa:
WznarensctBo FOpaiit, 2020. — 184 c. — (IlpodeccuonanpHoe obOpazoBanue). — ISBN 978-5-534-
09287-5. — URL.: https://urait.ru/bcode/455449.

JlonoIHUTeIbLHAS JTUTEpaTypa:

1. Annmiickmii 36Kk Uit U T-cenmanpHOCTEH:  ydueOHOE TIocoOHME it CpPEeIHEro
npodeccuonansHoro obpazosanus / O. H. CroraueBa. — Mocksa: M3narensctBo HOpaiit, 2022, — 143
c. — (IIpodeccuonampHoe  obpazoamme). — ISBN  978-5-534-07972-2. - URL:
https://urait.ru/bcode/493233

2. Anrnuiickuil s3bIk: yueOHoe nocobue / 3.B. ManbkoBckass. — MockBa: UHOPA-M, 2022. —
200 c. — (Cpemnee mpodeccuonansuoe obpaszosanme). — DOI 10.12737/22856. — ISBN 978-5-16-
012363-9. — URL.: https://znanium.com/catalog/product/1779974.

HNurtepner-pecypeblr: Ilepeyens HHTepHeT-pecypcoB, HeO00XOAMMBIX /IS OCBOCHMA
AUCHUTLTHHBI

Jns  ocymiectBiaeHus: o0pa3oBaTeNbHOTO Ipolecca MO JUCHUIUIMHE, HCIOJIb3YIOTCS
CJIEIYIOIINE IEKTPOHHBIE OnbmnoTednbie cucteMsl (OBC):

1. https://znanium.com/

2. http://urait.ru//

3. https://e.lanbook.com/

Jns  ocymiecTBieHUs 00pa30BaTENBHOIO Ipolecca MO JUCHMIUIMHE, HCIOJb3YIOTCS
cienyromre npodecCuoHanbHbIe 0a3bl JaHHBIX:

1. M3yuenue anrnuiickoro si3bika http://www.abc-english-grammar.com/

2. OnnaliH-3aHATUS [0 ayJUPOBAHUIO HA aHIJIMICKOM s3bIKe JUIsl ywyamuxcs https://www.esl-
lab.com/

3. AHrnuiickuii s3pIK OHJIAKH https://www.native-english.ru/.


https://znanium.com/
https://www.esl-lab.com/
https://www.esl-lab.com/

[Tpunoxenue 1
O0pa3en THTYJIBHOTO JICTA
ABTOHOMHASI HEKOMMEPYECKASI OPTAHU3ALIUA

HNPOPECCHUOHAJIBHOI'O OBPA3OBAHUSA
«CEBEPO - KABKA3CKHI AKAJEMHWYECKHIA MHOT OITPO®UJIBbHBIN KOJLIEIK»
(AHO IO «CKAMKY»)

PE®EPAT

Ha TeMy

10 AUCHUIIIINHE

(HaMMEHOBaHUE AUCITUTLIHHBI)

BBIITOJIHUIIL:

(®.11.0)

( kypc, rpymma)

ITPOBEPUIJI:

(®.1.0., mpenogaBaTens)

r. CraBponoJisb, 2022



Oopazen Conepxanust

COJIEP2KAHUE
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THABA 3 oo e 10
SF: 1 011 0L (5151 (SRR 14
10007 (0100 90 1% 1<) 0 -1 1174 ) 23 SO PR 16

[Tpunoxenue 2

[Ipunoxxenne 3



Oopa3zen opopmiieHHus IPe3eHTANUM

1. Tlepssrii cnaiin:

Tema uH(DOPMAITMOHHOTO COOOIIECHHS (MJIM HHOTO BU/IA 3a/IaHNUS):

[Toarorosun: ®.1.0. crynenra, Kypc, rpymnna, clieluaibHOCTh
Pykosogutens: @.11.0. npenogasaTens

2. Bropoii cnaiin

IInan:
1.
2.
3.
3. Tperwmii cnaiin
Jlureparypa:

4. YerBepThlii crnaiia

JlakOHMYHO pacKpbIBAET COJEpKaHUE UH(POPMALIUH, MOXKHO
BKJIFOYATh PUCYHKH, aBTOMUTYPBI, IpadUKu, TUarpaMMsl
U JIpyrHe Croco0bl HArJSITHOTO 0TOOpaXkeHus1 HH(OopMaIiu
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